UGC NET 2022 SOCIAL WORK 010

Topic:- 13_GP_SH1_S2_A
D The following table shows the percantage (%) of colleges
offering the four IT courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a cartain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Collegesin
the four states is 4000. Based on the data in the table,
answer the guestions 71-5,

State-wise Percentage of Colleges offering IT Courses

State|%.of Colleges offering % Distribution of
Pythonllava [Multimedialal [Number of Colleges

A [B6% (74 %59 % 56 %(35 %

B |80% [92%|82 % 84 %5(15 %

C [749% [88%[B4 % 86 2|20 %

D |B68% |64 %568 % 7096130 %

The number of Colleges offering the Python course is more
than 460 in

1. All the four states

2. Only three states

3. Only two states:

4. Only one state
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[Question ID = 701][Question Description = 101_0_GP28_0CT22_52_Q01]
1 [Option ID = 2801]
2 [Option ID = 2802]
3 [Option ID = 2803]
4 [Option ID = 2804]
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2) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The total number of Colleges-offering Al in all the four
states is

1.2784

2.2816

3. 2864

4, 2552
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[Question ID = 702][Question Description = 102_0_GP28_0CT22_S2_Q02]
1. 1 [Option ID = 2805]
2. 2 [Option ID = 2806]
3. 3 [Option ID = 2807]
4. 4 [Option ID = 2808]



3) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

if M and N represent the total number of Colleges offering
Python and Java, respectively, in all the four states, then M-
N=

1.64

2.96

3.48

4. 32



[Question ID = 703][Question Description = 103_0_GP28_0CT22_52_Q03]
. 1 [Option ID = 2809]
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2 [Option ID = 2810]
3 [Option ID = 2811]
4 [Option ID = 2812]



4) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Ratio of the number of Colleges offering Multimedia in
State C to that of State D is

1.2:3

2.11:13

3. 7417

4,13:16



TR YR Il A-D H UBYHE, o1al, GeciHieql 3T T 315 |
IR T 21 BIY (UIe0®H ) HHE B didl Jelaeiadl @l
vierTiet {3 au & S8R gl diee 5 Haiid

& | afre & IR Usdl § Heifaenerdl o1 Ge &1 fgaeo o
Uiea-ar fem T B | IR Ul § Heifaaradl o o 9=
4000 3| A1fcreT & 68 78 3fies & SMYR W UY 1-5 BT 371
gifore -

T2 1 UTEUH ATHY HI aTe HEiSeTedl ®f Isaar
I B

TeTaEel @1 AR B &

“Uu% e @ SE @

SefgaRu

Hﬁﬂqwnﬁﬂmﬁmgﬂé

A 196 % (74959 % 56 % (35 %

B |80% [02%32% 34 9 |15 9%

C |[74% [88%84 % 36 % (20 %

D 68% |64%68 % 70 % 30 %

T C § Ao Hiiea A H ale Agiaaiadl ol e @
ST 3058 D &1 HUg a1 g ;

1.2:3

2,.11:13

3.14:17

4 13:16

[Question ID = 704][Question Description = 104_0_GP28_0CT22_52_Q04]
1. 1 [Option ID = 2813]
2. 2 [Option ID = 2814]
3. 3 [Option ID = 2815]
4. 4 [Option ID = 2816]



%) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Number of Colleges offering Java in State B is ----% of the
number of Colleges offering Al in State C,

1.78.15

2.8023

3. 82.25

4, 8452
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[Question ID = 705][Question Description = 105_0_GP28_0CT22_S2_Q05]
1. 1 [Option ID = 2817]
2. 2 [Option ID = 2818]
3. 3 [Option ID = 2819]
4. 4 [Option ID = 2820]

Topic:- 13_GP_SH1_S2_B
L Which of the following Developmental areas of individual
differences will be effected, if a Child opts for frequent out
bursts and throws tantrums?

1. Social

2. Mental

3. Emotional

4. Physical
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[Question ID = 706][Question Description = 106_0_GP28_0CT22_S2_Q06]
1. 1 [Option ID = 2821]
2. 2 [Option ID = 2822]
3. 3 [Option ID = 2823]
4. 4 [Option ID = 2824]

2) Which of the fellowing is outside the Teacher-
Centric Methed?

1. Demonstration

2. Team teaching

3. Inguiry approach

4, Lecture method
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[Question ID = 707][Question Description = 107_0_GP28_0CT22_S2_Q07]
1. 1 [Option ID = 2825]
2. 2 [Option ID = 2826]
3. 3 [Option ID = 2827]
4. 4 [Option ID = 2828]

3) Which aspect indicates to be the most relevant in decision

miaking process according to Kohlberg's theory of moral
development 7

1. The age of the Child

2, Knowledge of Law

3. Influence of friends and Siblings

4. How the child arrives at Conclusion
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[Question ID = 708][Question Description = 108_0_GP28_0CT22_52_Q08]
1. 1 [Option ID = 2829]
2. 2 [Option ID = 2830]
3. 3 [Option ID = 2831]
4. 4 [Option ID = 2832]

4) Which among the following are the MOOCs; Platforms 7

A. Google Mest
B, Coursera

C. Zoom

D. Future Learn
E. Turnitin

Choose the correct answer from the options given below,
1.A Dand E only
2.B, D and E ornly
3.B and D only
4. C and D only
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[Question ID = 709][Question Description = 109_0_GP28_0CT22_52_Q09]
1. 1 [Option ID = 2833]
2. 2 [Option ID = 2834]
3. 3 [Option ID = 2835]
4. 4 [Option ID = 2836]



%) Match List | with List 1l

List | List I

-Il_-ey::ns;:; Meaning

A. Factual I. This Learning is used to organize
Learning informatian in logical structure

B. Association |Il. This Learning is used to develop
Learning personality and think coherently

C. Conceptual |[lIl. This Learning is used to organize
Learning sequence of activities to achieve a goal
D. Procedural |1V, This Leaming is used to connect with
Learning information more deeply and accurately

Choose the correct answer fram the options given below:
TA-ILB-IV,E-,B-Ill
ZA-ILB-LC-NIlLB-IV
A-ILB-L,E-VD-1
4A-N,B-LC-IV,D-1
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[Question ID = 710][Question Description = 110_0_GP28_0CT22_52_Q10]
1. 1 [Option ID = 2837]
2. 2 [Option ID = 2838]
3. 3 [Option ID = 2839]
4. 4 [Option ID = 2840]



6) One of the aims of qualitative data analysis is to
1. Expand the Selected text or material
2. Analyse the researcher’s credentials
3. Describe a phenomenon
4. Focus on binary dissection
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[Question ID = 711][Question Description = 111_0_GP28_0CT22_S2_Q11]
1. 1 [Option ID = 2841]
2. 2 [Option ID = 2842]
3. 3 [Option ID = 2843]
4. 4 [Option ID = 2844]

7) Virtual ethniography is Iccated ina/an

1. Natural environment
2. Technical environment
3. Political environment
4, Fconomic environment
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[Question ID = 712][Question Description = 112_0_GP28_0CT22_52_Q12]
1. 1 [Option ID = 2845]
2. 2 [Option ID = 2846]
3. 3 [Option ID = 2847]
4. 4 [Option ID = 2848]
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) The major ethical aspects of survey based research are;

A, Protection of Participants from any kind of harm.
B. Publicise the engagement of participants

C. Distinguish between different Strata of People.
D. Not to affect individual Privacy,

E. Use individual Privacy for Private Profit,

Choose the correct answer from the options given below,
1.A Band Conly
2.B, Cand D only
3.A Cand Eonly
4. A and D only

A& e Ty & U AT0® Ued e ;

A, GEMIFT! &1 68l TSR ®I 5114 4 ST

B, GEHITT & Gl B alp oy &

C. Tl At &R & &g 3 H1

D. SHGHTH [Feidl @1 WHifad el He1

E. el @ & Fore oufakrTd fHisfal &1 SudRT @Al

I feu e famadl 4 G e ST g -
1. BT A, B IR C
2. FaF B, CHARD
3.Fad A CHRE
4 FEAAARD

[Question ID = 713][Question Description = 113_0_GP28_0CT22_S2_Q13]
1. 1 [Option ID = 2849]
2. 2 [Option ID = 2850]
3. 3 [Option ID = 2851]
4. 4 [Option ID = 2852]



%) Which of the following are advantages of content analysis?

ftisa;

A, Transparent research method

B. Non- reactive method

C. Flexible method

D. Method that does not need a coding manual
E. Method that is free of any kind of framework

Choose the correct answer fram the options given below;
1.A Band Conly
2.B, Cand D only
3.C, Dand Eanly
4. A DandEonly
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[Question ID = 714][Question Description = 114_0_GP28_0CT22_S2_Q14]
1. 1 [Option ID = 2853]
2. 2 [Option ID = 2854]
3. 3 [Option ID = 2855]
4. 4 [Option ID = 2856]



10 .
) Given below are two statements

Statement |: Positivism Says that Sciences need not be
free from Speculative and metaphysical approaches

Statement ll: Positivism is Suitable for natural Sciences

In light of the above statements, choose the most
apprapriate answer from the optians given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement || is incorrect
4. Statement | is incorrect but Statement Il is correct
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[Question ID = 715][Question Description = 115_0_GP28_0CT22_52_Q15]
1. 1 [Option ID = 2857]
2. 2 [Option ID = 2858]
3. 3 [Option ID = 2859]
4. 4 [Option ID = 2860]

11 d . y
) Media messages-consist of various layers of

1. Rationalisation

2, Complex resistance
3. Polymorphic meaning
4. Restrictive rituals
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[Question ID = 716][Question Description = 116_0_GP28_0CT22_S2_Q16]
1. 1 [Option ID = 2861]
2. 2 [Option ID = 2862]
3. 3 [Option ID = 2863]
4. 4 [Option ID = 2864]
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) A source of Communicative inefficiency is

1. Desire for Personal gratification
2. Implications of familiar relations
3. Peer Pressure

4, Limited Knowledge
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[Question ID = 717][Question Description = 117_0_GP28_0CT22_S2_Q17]
1. 1 [Option ID = 2865]
2. 2 [Option ID = 2866]
3. 3 [Option ID = 2867]
4. 4 [Option ID = 2868]

13) Which of the following are elements of congenial

classroony atmasphere?

A Creating a conducive atmosphere

B. Engaging in individual efforts

C. Supportive team work

D. Negotiable movemernit inside the classroom
E, Immersive listening

Choose the correct answer from the options given below,
1.4, B and Eonly
2.4 CandEonly
3.B, Cand D only
4.C, D and E only
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[Question ID = 718][Question Description = 118_0_GP28_0CT22_S2_Q18]
1. 1 [Option ID = 2869]
2. 2 [Option ID = 2870]
3. 3 [Option ID = 2871]
4. 4 [Option ID = 2872]

14) Which of the following can be categorised as non-verbal

communication?

A, Pleasant Voice

B, Postures

C. Gestures

D. Facial expressions

E. Viociferous greetings

Choose the correct answer from the options given below:,
1.4, Band Conly
2.8, Cand Eonly
3. C, D and E only
4.8, Cand D only
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[Question ID = 719][Question Description = 119_0_GP28_0CT22_S2_Q19]
1. 1 [Option ID = 2873]
2. 2 [Option ID = 2874]
3. 3 [Option ID = 2875]
4. 4 [Option ID = 2876]

1 5
%) Given below are two statements

Statement I: Most of the time, communication is loaded
with pewer value,

Statement II: Those who do not have the power of
gommuriication always seek to possess it,

In light of the above statements, choose the most
appropriate answer from the optiens given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct
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[Question ID = 720][Question Description = 120_0_GP28_0CT22_52_Q20]
1. 1 [Option ID = 2877]
2. 2 [Option ID = 2878]
3. 3 [Option ID = 2879]
4. 4 [Option ID = 2880]

16) One day a man left his home for a morning walk and went

12 km southwards. He then turned right and walked 8 km.
Again turned right and walked 12 km, turned left and
walked 10 km. How many Killometers the man has to-walk
to reach straight to his home?

22 km

18 km

20 km

24 km
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foell = | Us R 1 Tife- J31 IR 12 6 9ar he el
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22 fepHf

18 fepeit

20 Tt

24 Tl

[ -

Bow

[Question ID = 721][Question Description = 121_0_GP28_0CT22_52_Q21]
1. 1 [Option ID = 2881]
2. 2 [Option ID = 2882]
3. 3 [Option ID = 2883]
4. 4[Option ID = 2884]



17 The price of a jewel, passing three hands, rises on the

whole by 65%. If the first and second sellers eamed 20%
and 25%: profit respectively, find percentage profit earned
by the third seller.

1.10%

2.15%

3.16%

4.12%

4! 1 @1 9oy, JiF [dearal § T[ed g¢ G9Yd: 65% 96
SIdl 81 9 Uy SR Tgai fadhal o SH: 20% 3R 25%
AT T 81aT &, @ gaid [desal g Hfsid afad oy 31
Bifon?

1.10%

2.15%

3.16%

412 %

[Question ID = 722][Question Description = 122_0_GP28_0CT22_52_Q22]
1. 1 [Option ID = 2885]
2. 2 [Option ID = 2886]
3. 3 [Option ID = 2887]
4. 4 [Option ID = 2888]

18) In an examination 42% students failed in Mathematics and

52 % failed in Science, If 17% failed in both the subjects,
find the Percentage of those Who Passed in both the
subjects,

1.23%

2.25%

3.27T%

4.30%
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1.23%

2.25%

3.27%

4.30%

[Question ID = 723][Question Description = 123_0_GP28_0CT22_52_Q23]
1. 1 [Option ID = 2889]
2. 2 [Option ID = 2890]
3. 3 [Option ID = 2891]
4. 4 [Option ID = 2892]



19) A 729 ml of a mixture contains milk and water in the ratio

of 7 ; 2. How much miore water is to be added to get a new
mikture containing milk and water in the ratio of 7 : 37
1.81ml
2.90 ml
3.85ml
4.75 ml
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1. 81 fael
2. 90 el
3. 85 fH@l
4,75 Tt

[Question ID = 724][Question Description = 124_0_GP28_0CT22_52_Q24]
1. 1 [Option ID = 2893]
2. 2 [Option ID = 2894]
3. 3 [Option ID = 2895]
4. 4 [Option ID = 2896]

20) Find the next term in the series given below.

124, 148, 196, 268, 364, 7
1. 484
2. 584
3. 464
4. 268

= G1 773 S 5 e UG §id GBI ;
124, 148, 196, 268, 364, 7

1.484

2.584

3. 464

4, 268

[Question ID = 725][Question Description = 125_0_GP28_0CT22_52_Q25]
1. 1 [Option ID = 2897]
2. 2 [Option ID = 2898]
3. 3 [Option ID = 2899]
4. 4 [Option ID = 2900]



21) Which of the following statements are logically equivalent?

A NoPisS

B. Some S are non-P

C. Some non-P are not non-5
D.Some S are not P

Choose the correct answer from the options given below;
1.B and Conly
2.Cand D only
3.B, Cand D only
4 4B CandD
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[Question ID = 726][Question Description = 126_0_GP28_0CT22_S2_Q26]
1. 1 [Option ID = 2901]
2. 2 [Option ID = 2902]
3. 3 [Option ID = 2903]
4. 4 [Option ID = 2904]

22) "Considering the Speech given by the School Principal

taday, | would conclude that he is'net a good
Public Speaker.” Identify the informal fallacy committed in
the above argument.

1. Slippery Slope

2. Ad hominem

3. Appeal to force

4. Hasty Generalisation
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1. TR =i1Y

2. USEIEH

3. §0-318

4. @ A @

[Question ID = 727][Question Description = 127_0_GP28_0CT22_S2_Q27]
1. 1 [Option ID = 2905]
2. 2 [Option ID = 2906]
3. 3 [Option ID = 2907]
4. 4 [Option ID = 2908]

23) Which of the following is true regarding Inductive

argument?

1. if all the premises are true, the-conclusion must be
trise.

2.IT claims:to support its conclusion anly with some
degree of probability

3. It claims to Support its conclusion condusively

4. Conclusion is'completely contained already in the
premises
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[Question ID = 728][Question Description = 128_0_GP28_0CT22_S2_Q28]
1. 1 [Option ID = 2909]
2. 2 [Option ID = 2910]
3. 3 [Option ID = 2911]
4. 4 [Option ID = 2912]

24 - . i
) When inference is based not on causation but

on uniformity of co-existence, what is it called as per
Classical Indian School of Logic?

1. Kevalanvayi

2. Samianyatadrsta

5. Parvavat

4. Sef,avat
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1. SHaaaa

2. HHEFgAIEP

3. gdad

4. ¥9ad

[Question ID = 729][Question Description = 129_0_GP28_0CT22_S2_Q29]
1. 1 [Option ID = 2913]
2. 2 [Option ID = 2914]
3. 3 [Option ID = 2915]
4. 4 [Option ID = 2916]

25) Which of following is true regarding Classical Indian School

of Logic?

A, It isdeductive

B. It is inductive

C. It isformal

D. It is matenal

E, it always leads from universal to particular enly

Choose the correct answer from the options given below:
1.4, B Cand Donly
2.B and Conly
3. A and D anly
4 A B CDandE

Y10 IE T d@Hd & &R 4 Hgiied 3 8 @ 9@
Tele:
A T8 FTETES a8l

B. U8 HTHAIHD il 8

C. 98 IS el &

D. UE UG g g |

£, T8 Had U] WEU A a9y 1659 ©1 3R Ugd ol o

Id fou 71¢ fadedl 4 4 U6l IR 9 -
1. @GAA, B.CHRD

2. FAAB AN C

3. FATAARD

4.A B CDIRE

[Question ID = 730][Question Description = 130_0_GP28_0CT22_52_Q30]
1. 1 [Option ID = 2917]



2. 2 [Option ID = 2918]
3. 3 [Option ID = 2919]
4. 4 [Option ID = 2920]

26) MIDI is associated with the storage-of music files. MIDI is

an acronym for__
1. Musical Interactive Digital Interface
2, Musical Instructions Device Interpreter
3. Mask [terative Display Instance
4. Musical Instrument Digital Interface

TH 1S BT AR Tifa (i) gl & Yenu | g4
oH T 31 9 Meifea § 4 e Rt we ohadi o=t &
2. "l grac oY [SaIgH SeXhed
3. A% 3iciicg foud 3%y
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[Question ID = 731][Question Description = 131_0_GP28_0CT22_52_Q31]
1. 1 [Option ID = 2921]
2. 2 [Option ID = 2922]
3. 3 [Option ID = 2923]
4. 4 [Option ID = 2924]



27)

Maohit has sent an email to Bobby, Danny and Ashok as
shown below;

From : Mohit@gmail.com
To : Bobby@gmail.com
Cc : Danny@gmail.com

Bec : Ashok@gmail.com

Subject : Important update

Dear

Colleague,

Please note that tormorrow’s meeting has been cancelled.
Regards-

Mohit

Which of the following statements is Correci?

1. Bobby and Danny are aware that Ashok received the
email

2. Danny is aware that Ashok and Bobby received the
email

3. Ashok is aware that Bobby and Danny received the
email

4. All recipients are ‘aware that the others received the
email.
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From: Mohit@gmail.com
To: Bobby@gmail.com

Cc Danny@gmail.com

Bec: Ashok@gmail.com

Subject: Impertant Update

Dear Colleague
Please note that tomorrow’s meeting has been cancelled
Regard

Mohit
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[Question ID = 732][Question Description = 132_0_GP28_0CT22_S2_Q32]
1. 1 [Option ID = 2925]
2. 2 [Option ID = 2926]
3. 3 [Option ID = 2927]
4. 4 [Option ID = 2928]

28) Which of the following are web search engines?

A. DuckDuckGo
B. Google

C. Yahoo search
D. Bing

E, Pinterest

Cheose the correct answer from the options given below:
1.8, Cand D only
2.4 B Cand Donly
3. B and Eonly
4. A C DandE only
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[Question ID = 733][Question Description = 133_0_GP28_0CT22_S2_Q33]
1. 1 [Option ID = 2929]
2. 2 [Option ID = 2930]
3. 3 [Option ID = 2931]
4. 4 [Option ID = 2932]

29)  \atch List | with List 11

List | List I
(Statement) (Value)
4. The number of bits that make up a byte .5

B. Base - 10 (denary) value of the binary number;

1.8
001111

C. Number of minutes to upload a 75 megabyte I 18
file at 2 Megabits per second upload speed '

D. If there are 2° bytes in a Kilobyte then what is
the Value of P7

.15

Choose the correct answer from the options given below:
T.A-LB-ILC-1ILD-IV
2ZA-ILB-IV,E-|,D-1ll
A-NLB-IVC-1,D-1
A A-1LB-1L,C-M,D-1Il
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7 feu U fdwedt © € 98 S I
1.A-LB-1,C-1I,D- IV

2A-WB-IV,C-1, D=l

3LA-NLB-IV,C-1,D-1l

4. A-1,B-1,C-VD-1I

[Question ID = 734][Question Description = 134_0_GP28_0CT22_52_Q34]
1. 1 [Option ID = 2933]
2. 2 [Option ID = 2934]
3. 3 [Option ID = 2935]
4. 4 [Option ID = 2936]

30 Given below are two statements

Statement I: ROM is temparary memory that can be
written to or read from and the contents of the memory
can be changed,

Statement ll: RAM is permanent memory that can only be
read from and contents of memory cannot be changed.

In light of the above statements, choose the most
appropriate answer from the options given below
1. Both Statement | and Statement |l are correet
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct
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[Question ID = 735][Question Description = 135_0_GP28_0CT22_S2_Q35]
1. 1 [Option ID = 2937]
2. 2 [Option ID = 2938]
3. 3 [Option ID = 2939]
4. 4 [Option ID = 2940]

3 Given below are two statements

Statement |: Concentration of Volatile Organic Chemicals
is generally 100-1000 times higher in surface water than
underground water,

Statement |I: The most commen method of treatment of
Volatile Organic Chemicals is tc aerate them to
atmosphere.

I light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Both Statement | and Statement 1l are false.

3. Statement | is true but Statement |l is-false,

4. Statement | is false but Statement [l is true,
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[Question ID = 736][Question Description = 136_0_GP28_0CT22_52_Q36]
1. 1 [Option ID = 2941]
2. 2 [Option ID = 2942]
3. 3 [Option ID = 2943]
4. 4 [Option ID = 2944]

32) Pyrolysis-helps in addressing the Problem of

1. Air Pollution

2. Water Psllution

3. Municipal Solid Wastes-
4. Electronic Wastes

A9-3gaed Hgfaigd § ¥ g 99 & 9919H 5 98/l
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[Question ID = 737][Question Description = 137_0_GP28_0CT22_S2_Q37]
1. 1 [Option ID = 2945]
2. 2 [Option ID = 2946]
3. 3 [Option ID = 2947]
4. 4 [Option ID = 2948]

33) The period of Sendai framework for disaster risk reduction

is

.2015 -2030
. 2020 - 2040
.2015 - 2025
.2020 - 2030

B ST s
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[Question ID = 738][Question Description = 138_0_GP28_0CT22_52_Q38]
1. 1 [Option ID = 2949]
2. 2 [Option ID = 2950]
3. 3 [Option ID = 2951]
4. 4 [Option ID = 2952]

34 .
) Given below are two statements

Statement |: To address problem of climate change it is
essential for the world to have 'Net Zero'

carbon emissions by the year 2050.

Statement II: There is zero carbon emission associated
with-the production of gray-hydrogen.

In light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Bath Statement | and Statement |l are false.

3. Statement | is true but Statement |l is-false,

4, Statement | is false but Statement [l is true,

el ey BumE.
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[Question ID = 739][Question Description = 139_0_GP28_0CT22_52_Q39]
1. 1 [Option ID = 2953]
2. 2 [Option ID = 2954]
3. 3 [Option ID = 2955]
4. 4 [Option ID = 2956]



35 .
) Given below are two statements

Statement |: Acute exposure to a chemical is a long
term continuous exposure by that chemical

Statement II: Chronic exposure to a chemical is a short
term expoasure to that chemical

In light of the above statements, choose the most
apprapriate answer from the optiens given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statemerit || are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct
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[Question ID = 740][Question Description = 140_0_GP28_0CT22_52_Q40]
1. 1 [Option ID = 2957]
2. 2 [Option ID = 2958]
3. 3 [Option ID = 2959]
4. 4 [Option ID = 2960]

36) Community Colleges are supposed to offer courses that

are a mix of
1. Fing Arts and Life Skills
2. School and College Education
3. Technical and Traditional Skills
4. Knowledge, Technical and Soft Skills

Traihe Aeliaarel g1 Rufeied usgear & T a g
o ygm o1 e B T 8 7
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[Question ID = 741][Question Description = 141_0_GP28_0CT22_52_Q41]
1. 1 [Option ID = 2961]
2. 2 [Option ID = 2962]
3. 3 [Option ID = 2963]
4. 4 [Option ID = 2964]

37 The major terms of reference for the National Knowledge
Commission were

A, Challenge developed countries in Knowledge creation
B. Westernise the Indian educational system

C. Promote creation of Knowledge in science and
technology laboratories

D. Promote Knowledge applications in agriculture and
industry

E, Build excellence in education system to meet the
challenges of the twenty-first century

Choose the correct answer fram the options given below;
1.4, Band Conly
2.B, Cand D only
3.C Dand Eonly
4.4 BandEanly
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[Question ID = 742][Question Description = 142_0_GP28_0CT22_S2_Q42]
1. 1 [Option ID = 2965]
2. 2 [Option ID = 2966]
3. 3 [Option ID = 2967]
4. 4 [Option ID = 2968]



38) The acrenym "SANKALP', introduced by the Ministry of Skill

Development and Entrepreneurship, stands for ;-
1. Skill Awareness and Knowledge Assessment of
Livelihdod Promdtion
2. skill Addition and Knowledge Assessment of
Livelihcod Promation
3. Skill Acquisition and Knowledge Awareness of
Livelihcod Promation
4. Skill Attainment and Knowledge Awareness of
Livelihgod Promation

I TU U & U va Ot i ¥ feue dRm wu
TR
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3. Fpa ufedie U Aie dg e fadigs
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[Question ID = 743][Question Description = 143_0_GP28_0CT22_S2_Q43]
1. 1 [Option ID = 2969]
2. 2 [Option ID = 2970]
3. 3 [Option ID = 2971]
4. 4 [Option ID = 2972]

39) Where is Chanzkya said to have composed his

Arthashastra 7
1. Sarnatha
2. Takshashila
3. Nalanida
4, Vikramshila

0 SRR @) =99 @el @) 4
1. FTATY
2, dEREn
3. 9refar
4, fasaren

[Question ID = 744][Question Description = 144_0_GP28_0CT22_S2_Q44]
1. 1 [Option ID = 2973]
2. 2 [Option ID = 2974]
3. 3 [Option ID = 2975]
4. 4 [Option ID = 2976]



40) Match List | with List 11

List | List 1l
Name of the : .

. Domain and Subject Matter
Subject

~ I. Agriculture, trade, commerce, animal
A Kavya )

husbandry

B. Aniviksiki Il. Etymiology
C. Varta IIl. Logic
D. Ntrukta IV. Imaginative and creative literature

Choose the correct answer from the options given below:
TA-ILB-ULC-IV,D-|
2A-IV,B-1ILC-1,D-1
FA-NB-IVC-Il,D-1
AA-ILB-IV,C-1,D-1l
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ZA-IVB-NILC-L,D-1
SSA-ILB-IMC-I,B -
4 A-ILB-IVMC-[,D-Ill

[Question ID = 745][Question Description = 145_0_GP28_0CT22_S2_Q45]
1. 1 [Option ID = 2977]
2. 2 [Option ID = 2978]
3. 3 [Option ID = 2979]
4. 4 [Option ID = 2980]

Topic:- 13_GP_SH1_S2_C



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which was the Statement of fact in the Speech of
Mahatma Gandhi at Banaras?
1. Lawyers, doctors and landlords sided with the British.
2. The Indian nationalism was elitist
3. Nationalism was of another level in India
4. The existing Indian nationalism was highly effective
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[Question ID = 746][Question Description = 146_0_GP28_0CT22_S2_Q46]
1. 1 [Option ID = 2981]
2. 2 [Option ID = 2982]
3. 3 [Option ID = 2983]
4. 4 [Option ID = 2984]



2)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhiji's speech expressed the intention of

1. Making Indian nationalism mere representative

2. Announcing the desire of expatriates to become
politically active

3. Criticising the activities of Indian natienalists

4 Launching a new nationalist movement



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

el < & yren § Fgfafas & 9 g e 91 sftefea
gs di?
1. YRAE AParE @ AR AYE ufaEe @ed o
2. FEdl & Tenae ©U 4 9ied oH ©1 3531 &)
I B
3. YA APAIG & BEGA B SATarEH] S
4. T APAIG] AT HRH BT

[Question ID = 747][Question Description = 147_0_GP28_0CT22_S2_Q47]
1. 1 [Option ID = 2985]
2. 2 [Option ID = 2986]
3. 3 [Option ID = 2987]
4. 4 [Option ID = 2988]



3)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhijl could put his precept into practice during

1. The Lucknow mieeting

2. The talks with landlords

3. The Champaran campaign

4, Tnie interaction with nationalist leaders



ferafafad Teiw #7 ufd o 46 T 50 7F UHT & I
giferg :

BIEL] 1916 § §9G H T4 &1 YIH0 U6 & W ag B
T o, ST YR Apaie T Yuid aiae 4, fored
FHI, Mipwmml AR Y @ uied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

e o 5 3 e w1y @1 Fetiad 8 © fde R
wli-ad fodT 7

1. TEAS T4

2, 1Al & 9y a9l

3. 99RA TATE

4. AFTGETC] ATl & 9y STl

[Question ID = 748][Question Description = 148_0_GP28_0CT22_S2_Q48]
1. 1 [Option ID = 2989]
2. 2 [Option ID = 2990]
3. 3 [Option ID = 2991]
4. 4 [Option ID = 2992]



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which issue propelled Gandhiji to the national stage for a
wider moverment?
1. Labour dispute of textile mill workersin Ahmedabad
2. Agitation peasanis in Kheda
3. The revolt against British Indigo planters
4, The Rowlatt Act



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

Frafafad & | fow g - 7 of & Wp1a w1 ) s
g & o Ui fean

1. IEYAIEE 4 $US Hd HeRI ®I 59 dag

2. WE1 & fpart &7 sifaied

3. ic Pu®I @] HU= & (G 9ale

4. e ae

[Question ID = 749][Question Description = 149_0_GP28_0CT22_S2_Q49]
1. 1 [Option ID = 2993]
2. 2 [Option ID = 2994]
3. 3 [Option ID = 2995]
4. 4 [Option ID = 2996]



5)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

The main intent of the passage is to deseribe

1. The British atrocities in India

2. The different facets of Indian national movement

3. The various campaigns against the British in [ndia

4, The emergence of Gandhiji as a representative
national leader



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

W] 1916 § §910G H 77| &1 HTHY] U &8 W a9 oy
T o, ST YR Apare U Sid givaen 4, foreH
TEIE, Rfs! AR e @ gleg urier 6| e
T TR R U8 38 1 @] Sy uT g TF dedd o
ale el Sidd] S HRH PTG P 30 $1 SpP
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@[ U =i g/ @I AdeR 4 4 Uad oI B §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & fear! A oTd Yud wifte | fFaHt arr o=
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
T | TR S B @ 1917 H SATAT U@ §5E 9ueA 3 6l
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@ BEGY 95T B4 & (00 EHeEG 3 ¥4 faae J
EEIAY 01| oI BT 9916 6 & a15 [ aHl 0T
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

ciE A A 37 S8R aFa] Bl 9R) T8 B RmiE @
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

T 1 G GERd e § § foum aui B g 2
1. HRd # fafes SR
2. {1 TE Siieie & i e
3. YRd ¥ UG & fawg [afag i
4. 7M1 ST 1 Ui P A 3w H gyl

[Question ID = 750][Question Description = 150_0_GP28_0CT22_S2_Q50]
1. 1 [Option ID = 2997]
2. 2 [Option ID = 2998]
3. 3 [Option ID = 2999]
4. 4 [Option ID = 3000]

Topic:- 010_SOCIAL WORK SET2_A



1)

The basic goal of social work profession is
1. to' provide decent work and living
2. to eliminate pauperism
3. to address life challenges and enhance well being
4. tg'promote professionalism and provide manpower in the field of social welfare

THI BT oIgaTd B Jodd e © -
1. Faifeg &Y AR Wiaq UaH Sl
2. Sifard1dl/TIel] @ IHE Dl
3. SliaH @1 AN @1 GHIYH S 3R 954 Hedlvl @] Yt Hel
4. GHTS SOVl & &7 § sUiaHIiHdl Bl 9d] o1 HR SEiiad UaH Sl

[Question ID = 21992][Question Description = 101_10_SWK_0CT22_S2_Q01]
1. 1 [Option ID = 27965]
2. 2 [Option ID = 27966]
3. 3 [Option ID = 27967]
4. 4 [Option ID = 27968]

2 ; . ; y S
) The core issue in the radical social work perspective is

1. Gender
2. Ethnicity
3. Class

4, Race

Hifeia gRaaASN G419 SR & HHed 5 JaHd gaal &l o 7
1. dife
2. TETfear
3.9
4, 7%

[Question ID = 21993][Question Description = 102_10_SWK_0CT22_S2_Q02]
1. 1 [Option ID = 27969]
2. 2 [Option ID = 27970]
3. 3 [Option ID = 27971]
4. 4 [Option ID = 27972]

3) For promuoting the professional sacial work education, the University Grants

Commission (UGC) has produced the reports on social work education from time to
time, What was the title of the first UGC Report on sacial work education?

1. Social Weork Education in India: Retrospect and Prospect

2. Social Work Education in Indian Universities

3. Curriculum Development Report on Social Work Education

4. Encyclopedia of Social Work



S GHIS DR P &M, DI de1a] a- & 3530 4 AU Sar /T (G, .
TT) = TFY - THY O 99 @ Q&1 T Hidde Baierd (U o | 9ATs @Td a1 98
v faufaee Sram mEnT (@, ot 9 uiade &1 Siad & o 7

1. HIEIS 9 UBEI 54 31od] Seae Us Hieide

2. 9IIe 90 UdH 54 3169 giaidc s

3. RRIGEH saodde MU ofH GiEle ad TebaH

4. SAAEEAMIT ST 3TH AI9E a6

[Question ID = 21994][Question Description = 103_10_SWK_0CT22_S2_Q03]
1. 1 [Option ID = 27973]
2. 2 [Option ID = 27974]
3. 3 [Option ID = 27975]
4. 4 [Option ID = 27976]

4) In the history of social work, three Rs - Research, Reform and Residence were used in

the context of ;-
1. Settlement House Movement
2. Charity Organisation Society
3. Scientific Charity
4, Friendly Visitors

THIS BT $ Sioerd 3 aiF 'R - Y, GUR SN Harg @1 van feae gy F fear
qr?

1. 31f¥aErg U8 3ffele

2. RIGHH] TTa graEel

3. 9IS WRIgSTar

4, BH1G Sriqe

[Question ID = 21995][Question Description = 104_10_SWK_0CT22_S2_Q04]
1. 1 [Option ID = 27977]
2. 2 [Option ID = 27978]
3. 3 [Option ID = 27979]
4. 4 [Option ID = 27980]

5)

A lifespan development theory that explains how an individual must have certain
needs met before they can move to achieve a higher level of needs was given by
1. Crain
2, Freud
3. Maslow
4. Perlman



wa-2aty e gl us oare &l & 6 Jfga 20 S &R 3 g aar
F U B3 © Ugd ol Hid ATgadE id o4l | sHhgd e yeas e 4 ?
1,59
2. BES
3. e
4. Oefae

[Question ID = 21996][Question Description = 105_10_SWK_0CT22_S2_QO05]
1. 1 [Option ID = 27981]
2. 2 [Option ID = 27982]
3. 3 [Option ID = 27983]
4. 4 [Option ID = 27984]

6)

According te Erikson, an adolescent's main task is:-
1. Developing a sense of self
2. Developing role confusion
3. Competing with role confusion
4. Creating identity diffusion

TN & ORI TS a1 & -
1. 3T 914 @ [a@Y
2. §YH YD @7 f[dBrg
3. HHH Y@ o wiowas]
4, 3 99R B

[Question ID = 21997][Question Description = 106_10_SWK_0CT22_S2_Q06]
1. 1 [Option ID = 27985]
2. 2 [Option ID = 27986]
3. 3 [Option ID = 27987]
4. 4 [Option ID = 27988]

7)

Ordinary people are led to believe that the prevailing existing order is samehow
natural and normal. Which of the follewing theoretically explains this?

1. Commion sense

2. Socialization

3. Hegemeny

4. Social sanctity

HH T 98 (G418 @ & [ o9 Waicd o] 9gd 99 Widiae AR GG 6
fafofeg S it Ty O sHd W afcud eidra ?

1. gAY

2, TSSO

3. 3T

4. AT TAT

[Question ID = 21998][Question Description = 107_10_SWK_0CT22_S2_Q07]
1. 1 [Option ID = 27989]
2. 2 [Option ID = 27990]
3. 3 [Option ID = 27991]



4. 4 [Option ID = 27992]
8) Systermns theory in scrial work is based on the idea that behaviour is influenced by a
variety of factors that work together as a system. System theory emphasizes that

1. the whole is greater than the sum of the paris-

2. the whole is equal to the sum of the parts

3. the whole is lesser than the sum of the parts

4. there is no relationship between the whale and sum of the parts

TS BT & Ugld [oaid 59 f09R U3 3MUIE & [ 9adeR 3@ UaR & aRa| 4
gHIfad 8idT & Wl UGfa & &9 § U@ 91y &1 &4 o, Ui (eid 39 U2 96 ol &
B

1. 0], YT & 9IS § SUE 5

2. G, YTl % 15 D S B

3. qul, 4T & g B 31

4. T SR U & SIS & 91 B T94 981 g

[Question ID = 21999][Question Description = 108_10_SWK_0CT22_S2_Q08]
1. 1 [Option ID = 27993]
2. 2 [Option ID = 27994]
3. 3 [Option ID = 27995]
4. 4 [Option ID = 27996]

%) Max Weber's theory of Bureaucracy proposes that all business tasks must be divided

among the employees. The basis for the division of tasks should be
1. Duration of stay in arganisation
2. Competencies and functional specializations
3. Employee’s background
4. Social status

A e 1 PRl B [Ggid * URAIad Bl § [ 941 SR H1d] B SHanal
@ g [aa3ie (gl oIe | B & [GHTS &1 HYR 54 98 ;

1. 9T | 5 B 3@y

2. ST 3R RS GRTET

3, THOR] @ I8YE

4 gHATES U

[Question ID = 22000][Question Description = 109_10_SWK_0CT22_S2_Q09]
1. 1 [Option ID = 27997]
2. 2 [Option ID = 27998]
3. 3 [Option ID = 27999]
4. 4 [Option ID = 28000]



10 it is through the acquisition of language that we become human and social beings.

Which of the theoretical perspectives is closely associated with the statements?
1. Cultural relativisny
2. Symbalic interactionism
3. Ethnomethodology
4. Subjectivism

a1 HfEET & e 1 89 AFd IR aEieie Wil 894 & | T8 &Y [ aioe
e & HfY® Fde & 7

1. grfoe a9meERE

2, Jdidld® o

3. JTclig Feilia qomedt

4, faugiagarg

[Question ID = 22001][Question Description = 110_10_SWK_0CT22_S2_Q10]
1. 1 [Option ID = 28001]
2. 2 [Option ID = 28002]
3. 3 [Option ID = 28003]
4. 4 [Option ID = 28004]

L Which of the following case work theory does not fall in the broad category of

school of thought representing social case work?
1. Crisis’intarvention
2. Diagnostic
3. Functional
4. Prablem sclving

FgiaRed § oH-91 o1 [SSid 9Eiee dgieae o © 919d 4 [bgis 9ued &
ﬁ@aﬁﬁﬁ@ﬁﬂﬁf%?

1. §e swed

2, FeHEE

3. FOTHD

4. FHE GHIEH

[Question ID = 22002][Question Description = 111_10_SWK_0CT22_S2_Q11]
1. 1 [Option ID = 28005]
2. 2 [Option ID = 28006]
3. 3 [Option ID = 28007]
4. 4 [Option ID = 28008]

12) The achievement of group goals is influenced by the group members’

1. Clarity of needs and goals

2. Engagement in selection of group leader

3. Articulation of thoughts in designing the activities for group
4. Quality of participation in ‘group processes



THE & 08T &1 YUl O & 9ol & g uuifad sidl 8l
1. HamEaIH! 9yl a&dl @ wpdr
2. 99 Tdw & 99 °§ goddl
3. 9 @1 iafafaEt & g | fant & gediew
4. §HE Wishal § oS el

[Question ID = 22003][Question Description = 112_10_SWK_0CT22_S2_Q12]
1. 1 [Option ID = 28009]
2. 2 [Option ID = 28010]
3. 3 [Option ID = 28011]
4. 4 [Option ID = 28012]

13) What are the three phases of sorial case work according to Mary Richmond?

1. Beginning phase, Middle phase and Ending phase
2. Study, Diagrniosis and Treatment

3. Intake, Intervention and Treatment

4. Intervention, Treatment and Termination

& fravs & o ER 999 daftae o S A RO e 7
1. SMRMAYE TROT, {9307 S GHIES T
2. € | FgF SR 99ER
3. Udg], g%y IR 9UER
4, BT, ITER AR g

[Question ID = 22004][Question Description = 113_10_SWK_0CT22_S2_Q13]
1. 1 [Option ID = 28013]
2. 2 [Option ID = 28014]
3. 3 [Option ID = 28015]
4. 4 [Option ID = 28016]

14 : &
) In which step of the case work process does the case worker attemipt to classify the

glient by nature of problem?
1. Diagnosis
2. Study
3. Follow up
4. Treatment

Jickics BI4 Wbl @ [he 9vl H adicui® Sk GH ®I Wdid & HFHR Sardl
1 g1 Y- ] WO/ Sl 8 7

1. 7HEH

2. TS

3. S

4 30dR

[Question ID = 22005][Question Description = 114_10_SWK_0CT22_S2_Q14]
1. 1 [Option ID = 28017]
2. 2 [Option ID = 28018]
3. 3 [Option ID = 28019]
4. 4 [Option ID = 28020]



15) In social group work, ‘scapegoating’ refers to a type of

1. Group worker's responsibility
2. Group worker’s role

3. Pressure group strategy

4. Group dynamics

TS 9E oA § weuniten feae fou defifd e e 2
1. §HE DUDT| Bl alidd
2. UHE DS @] HH]
3. 569 ] 95 -
4 grfE® MasE

[Question ID = 22006][Question Description = 115_10_SWK_0CT22_S2_Q15]
1. 1 [Option ID = 28021]
2. 2 [Option ID = 28022]
3. 3 [Option ID = 28023]
4. 4 [Option ID = 28024]

6) 'Not adhering to the principle of confidentiality’ may result inte client's victimization,

Which of the following is not the potential effect of it?
1. Breach of Confidence
2, Inappropriate cemmunication
3. Trust
4. Mistrust

TG4l @ [Hsid @1 U - @ J Yardl & 3dis- @ SH5 ol 96l 6l
FgiaRad & s guida yyE I8 8 2

1. TG 4T

2. g UuEY|

3. faums

4, Jfayrg

[Question ID = 22007][Question Description = 116_10_SWK_0CT22_S2_Q16]
1. 1 [Option ID = 28025]
2. 2 [Option ID = 28026]
3. 3 [Option ID = 28027]
4. 4 [Option ID = 28028]

17) Which of the following cannot be inferred from the ‘preblem posing’ concept of

Paulo Freire?
1. it is an instrument of liberation
2. It can be adopted by progressive social workers
3. It stresses on dialogical relationship
4, It sees clients as mere recipients



fgiarad o orsal I ©] 9Pead] - GAw] @e] Bl |1 o Sefid A6l of 9@al gl
1. T8 Hfed &1 0@ areH B
2. T WIfoRie 99 @realel] gR1 97l of 9@l gl
3. U% Ha5TEE 999 | a9 Jar &l g
4, g Yaidl @1 913 UIaddl 9l 6|

[Question ID = 22008][Question Description = 117_10_SWK_0CT22_S2_Q17]
1. 1 [Option ID = 28029]
2. 2 [Option ID = 28030]
3. 3 [Option ID = 28031]
4. 4 [Option ID = 28032]

18) Which of the following is not an approach of community development?

1. External Agent Approach
2. Multiple Agent Approach
3. Inner Resource Approach
4. Process Oriented Approach

afoRed § s oERe e HISu 96l & 7
1. 5T ATl gunE
2. 9g ifiymal surH
3. HidRe HaEE Ui
4 Yigr4a 3urHE

[Question ID = 22009][Question Description = 118_10_SWK_0CT22_S2_Q18]
1. 1 [Option ID = 28033]
2. 2 [Option ID = 28034]
3. 3 [Option ID = 28035]
4. 4 [Option ID = 28036]

19) Which of the following is not the approach of social action?

1. Collaboration
2. Competition
3. Disruption

4, Coordination

Ffatea & o geifee fhar &1 3ure Tel 6 7
1. GeanTE®
2. UieEs
3, fa=sga
4. gH<Y

[Question ID = 22010][Question Description = 119_10_SWK_0CT22_S2_Q19]
1. 1 [Option ID = 28037]
2. 2 [Option ID = 28038]
3. 3 [Option ID = 28039]
4. 4 [Option ID = 28040]



20) Who is the author of the book Strategies of Comimunity Organization?

1. F. M Cox

2. Rothman

3. Peter Baldock
4. M. G. Ross

UEI® -~ IeHiw Sfip PRI SIS " S TS B g
1.5 DI
2. 3UEA
3. Yl s i®
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[Question ID = 22011][Question Description = 120_10_SWK_0CT22_S2_Q20]
1. 1 [Option ID = 28041]
2. 2 [Option ID = 28042]
3. 3 [Option ID = 28043]
4. 4 [Option ID = 28044]

21) Wheo ameng the following said, "Community Organization is a process of

miaintaining adjustment between social welfare needs and sodal welfare resources?”
1. Dunham
2, Lindeman
3. Harper
4. Kramer and Specht

Fafefad & fou- e 8 - HeIhe W76+ S99 SodY @ Saegoars] S g e
DA & Sl & dig GAMGA & YN0 / RE0 Bl Uh Wimdl gl

1. 5769

2. TersiA

3. 8T

4, HT SR T

[Question ID = 22012][Question Description = 121_10_SWK_0CT22_S2_Q21]
1. 1 [Option ID = 28045]
2. 2 [Option ID = 28046]
3. 3 [Option ID = 28047]
4. 4 [Option ID = 28048]

22 SR . W .
) Who gave the statement, "Injustice anywhere is a threat to justice averywhere'7

1. Mahatma Gandhi

2. Bhagat Singh

3. Swami Vivekananda
4. Martin Luther King Jr,



" TR U U1 3R, T & 1970 5% 9 U Gl o1 OF U [amaRl o0 a1 ur 7
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[Question ID = 22013][Question Description = 122_10_SWK_0CT22_S2_Q22]
1. 1 [Option ID = 28049]
2. 2 [Option ID = 28050]
3. 3 [Option ID = 28051]
4. 4 [Option ID = 28052]

23) The COVID=12 pandemic was-declared as a disaster by

. Medical Coungil of India
. Government of NCT Delhi
. National Disaster Management Authority

=l

B S

. Home Minister, Government of India

B3 -19 HEMR] @ [GHe GR] TP aT Hiftd oy my o1 7
1. ¥R SHEfdsH uikes
2. TP AT & feeell SR
3. P ST9ET HEE WfEmIo
4,78 H4l, HRd Ti@R

[Question ID = 22014][Question Description = 123_10_SWK_0CT22_S2_Q23]
1. 1 [Option ID = 28053]
2. 2 [Option ID = 28054]
3. 3 [Option ID = 28055]
4. 4 [Option ID = 28056]

24) ‘The Principle-of Legitimization’ is related with which of the following methods of

social work?
1. Community Organization
2. Social group work
3. Social Action
4. Social Welfare Administration

Fafafad 7 sifts / Rftmse @ Rigid o= o @ e oy 9 96fia g 2
1. UHEIG® 9116
2. gD HHg &Y
3. I Than
4. AT HeaIv T

[Question ID = 22015][Question Description = 124_10_SWK_0CT22_S2_Q24]
1. 1 [Option ID = 28057]
2. 2 [Option ID = 28058]
3. 3 [Option ID = 28059]
4. 4 [Option ID = 28060]



25) Whe ameng the follewing argued that social action is mass betterment through

propaganda and legislation?
1. M. Ledwith
2. Mary Richmond
3. Paulo Freire
4. M. G, Ross

Fafarad H fee- g a9 &1 e amifee a1 UeR SR [3Ue & 7red 9 o1 9UR
gl

1. 04, forsfay

2. 731 RmHs

3. OI3al R

4. QH. G309

[Question ID = 22016][Question Description = 125_10_SWK_0CT22_S2_Q25]
1. 1 [Option ID = 28061]
2. 2 [Option ID = 28062]
3. 3 [Option ID = 28063]
4. 4 [Option ID = 28064]

26) if the epistemological positiening in a research is that of subjectivism; the ontolagical

position would be that of:
1. Positivism
2. Realism
3. Relativism
4. Objectivism

ofs fardl Iy © 319 SEiged wH Huio favg FEaeEsE &, 9 SeE e |E @1
BN ?

1. Ugadiq

2. TyriEE

3. FTUEEEE

4. THEIEG

[Question ID = 22017][Question Description = 126_10_SWK_0CT22_S2_Q26]
1. 1 [Option ID = 28065]
2. 2 [Option ID = 28066]
3. 3 [Option ID = 28067]
4. 4 [Option ID = 28068]

27) Which of the following does NOT fall in the category of Ratic measurement?

1. Age

2. Income

3. Years of Schoaling
4. Intelligence level



FafaRaa o o SHge a9 ®1 407 J T8 e 2
1.9
2. 1
3. faeneg e &1 35y /9y
4. dllq® &R

[Question ID = 22018][Question Description = 127_10_SWK_0CT22_S2_Q27]
1. 1 [Option ID = 28069]
2. 2 [Option ID = 28070]
3. 3 [Option ID = 28071]
4. 4 [Option ID = 28072]

2 : ;
8) The tendency among respondents to agree or disagree with every statement

regardless whether they actually agree is termed as:
1. Acguiescence bias
2. Social desirability
3. Social appropriateness
4, Random error

TdE ®YA & Uy H |, 976 IeRaIdl 914 4 UeHd &, o HFua: Jaandel @ e
eHld J1 2fggaia @I Hgfti &f o0l sl widl 8 7

1WE@?

2. g Ui

3. grHIfoI® Iugadl

4, Tl A

[Question ID = 22019][Question Description = 128_10_SWK_0CT22_S2_Q28]
1. 1 [Option ID = 28073]
2. 2 [Option ID = 28074]
3. 3 [Option ID = 28075]
4. 4 [Option ID = 28076]

29 A S : ALl £ : . )
) The saence of collecting, summarizing, analyzing and interpreting numernical

statermnent of facts about a group of people or objects is called
1. Research
2, Statistics:
3. Operational research
4. Social research

T gl cafad UHE g1 953l & e H d@l & H9eY, GRIRe, fa=elyo SR ey oy
@ fadad & [99H D] Bel Al 6 7

1. 90

2. gifega

3, TpaEE Iy

4, FrAITT® 20

[Question ID = 22020][Question Description = 129_10_SWK_0CT22_S2_Q29]
1. 1 [Option ID = 28077]



2. 2 [Option ID = 28078]
3. 3 [Option ID = 28079]
4. 4 [Option ID = 28080]

30) When the purpose of research is not only to study the reality but also to change it;

the appropriate theoretical lens would be that of:
1. Critical theory
2. Social constructionism
3. Interpretivism
4. Positivism

w9 Sy BT ugis gurd 1 ST 1 Tl & aied 9ud Uikaad oo HT 8, de ay
1. SEEATES [GSid
2, gHEIS® Yeaqae
3. P aE
4. UTEER

[Question ID = 22021][Question Description = 130_10_SWK_0CT22_S2_Q30]
1. 1 [Option ID = 28081]
2. 2 [Option ID = 28082]
3. 3 [Option ID = 28083]
4. 4 [Option ID = 28084]

3N The procedure in which neither the subjects nor the staff delivering the experimental

treatments know which subjects are receiving the treatment and which are recaiving
a placebo, is known as:

1. Masking

2. Double-blind

3. Confidentiality

4. Objectivity

g8 Uleed) forgd A a1 Yardl 2 7 g1 Ui SUaR UEH $- dId %1% @I Gl a/dl &
fep fep1 Tl &1 SUIR WK Bl W61 & 3R [hu®] d¢ Hus WId 8] 6] &, 84 ®al
Sle -

1. Uehla

2. Tg-afato=

3. TG

4. EGHEA

[Question ID = 22022][Question Description = 131_10_SWK_0CT22_S2_Q31]
1. 1 [Option ID = 28085]
2. 2 [Option ID = 28086]
3. 3 [Option ID = 28087]
4. 4 [Option ID = 28088]



32) Which of the following decisioris represent Type-|(oerror?

1. Null hypothesis is tested true and rejected
2. Null hypothesis is tested false and rejected
3. Null hypothesis is tested true and accepted
4. Null hypothesis is tested false and accepted

Fafatad 5 oF 91 [Huig yar - (o I sxidag ?
1. ¥ UR@ey @ WIE 9 & SR SRdigd 1og1 7 g
2. Y4 URehen] @ U1 7100 & AR i (al T 8
3. ¥ UR e @] WIEU U & AR Wi [l 714l 8l
4, Y- UReg] @] WIEU TTeid & R Wied 1] 14 &

[Question ID = 22023][Question Description = 132_10_SWK_0CT22_S2_Q32]
1. 1 [Option ID = 28089]
2. 2 [Option ID = 28090]
3. 3 [Option ID = 28091]
4. 4 [Option ID = 28092]

33) In social sciences, what is the comimonly accepted cut-off level of confidence for

accepting or rejecting a null hypothesis?
1.P < 0.01
2.P=<005
3.P<05
4 P=<01

TS a1 & 39 OR@egH] & Wigi 91 3RAI$ 1 & [0 [GyRgal @ [AHe® @
R GHE ¥ 4 ] Wigd (64] Wil & ?

1.P <001

2.P <0.05

3P <05

4 P <01

[Question ID = 22024][Question Description = 133_10_SWK_0CT22_S2_Q33]
1. 1 [Option ID = 28093]
2. 2 [Option ID = 28094]
3. 3 [Option ID = 28095]
4. 4 [Option ID = 28096]

34) Wheo amoeng the following is the key actor in participatory research?

1. Researcher
2. Participant
3. Learner

4. Expert



T g SN G eI Bal dH & 7
1. I
2. gl
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[Question ID = 22025][Question Description = 134_10_SWK_0OCT22_S2_Q34]
1. 1 [Option ID = 28097]
2. 2 [Option ID = 28098]
3. 3 [Option ID = 28099]
4. 4 [Option ID = 28100]

35 E A ; ; P
) refers to the extent to which the identical questions and procedures are

used in every group and allows researchers to make valid comparisons between all-of
the groups in the study.

1. Systematization

2. Standardization

3. Seguentization

4. Correlation

U@ T § 9uH Wl oyt fafit & fo Teitfa &3 o foe wai e o § ek
e 4 ol 9 & o9 9y gu o & (o gl & egEfe & Wil €, 96 feed
UEfa g

1. TGl

[Question ID = 22026][Question Description = 135_10_SWK_0CT22_S2_Q35]
1. 1 [Option ID = 28101]
2. 2 [Option ID = 28102]
3. 3 [Option ID = 28103]
4. 4 [Option ID = 28104]

36) ‘Shame’ and 'guilt’ are both mechanisms-of

1. Social deviance

2. Social control

3. Family counselling
4. Social distancing

T SR SO 91, G @) fspandfd g
1. HHID fageH
2. g HaEm
3, 9TegR oarEE
4, grHIfS® gl

[Question ID = 22027][Question Description = 136_10_SWK_0CT22_S2_Q36]



1 [Option ID = 28105]
2 [Option ID = 28106]
3 [Option ID = 28107]
4 [Option ID = 28108]

A wpN =

37 "We best serve clients by collaborating with them”, is one of the underlying

principles of
1. Psychodynamic Theory
2. Attachment Theory
3. Strengths-Based/ Resilience Theory
4. Critical Theoty

" H U B Weg e d] g HaaH 941 UaH ®%d & 98 [ [Ugid @ a9 8 7
1. AAATORITedT 1 TG
2. i ol & [9aid
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[Question ID = 22028][Question Description = 137_10_SWK_0CT22_S2_Q37]
1. 1 [Option ID = 28109]
2. 2 [Option ID = 28110]
3. 3 [Option ID = 28111]
4. 4 [Option ID = 28112]

38) Which Section of the Companies Act, 2013 stipulates about Corporate Social

Responsibility?
1. Section 136
2. Section 134
3. Section 135
4. Section 133

B AT 2013 B 59 4N @ ST gHe® STaidd & 91 § Wiy fedl
g ?

1. YT 136

2. 9T 124

3. 9N 135

4. 9NT 133

[Question ID = 22029][Question Description = 138_10_SWK_0CT22_S2_Q38]
1. 1 [Option ID = 28113]
2. 2 [Option ID = 28114]
3. 3 [Option ID = 28115]
4. 4 [Option ID = 28116]



39) Registration and regulation of NGO's in India is governed by

1. Registration of Societies Act, 1980
2. Bombay Public Trust Act, 1919

3. Societies Registration Act. 1860

4. Indian NGO Registration Act, 1970

YA H TR G@EN] S8 @ Ueie iR Faee 599 simia e e a7
1. HrETGe] delidmo a9 1980
2. gid @@ 41y AMFET 1919
3. 9 Uoiieey HiE-Ed 1860
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[Question ID = 22030][Question Description = 139_10_SWK_0CT22_S2_Q39]
1. 1 [Option ID = 28117]
2. 2 [Option ID = 28118]
3. 3 [Option ID = 28119]
4. 4 [Option ID = 28120]

40) What was the maijor contribution of UN Convention on the Rights of the Child?

1. Recognising the basic rights of a child

2. Listing of all child rights

3. Provision of special protection for children

4. Systems to deal comprehensively with the rights of the children

1S SHYER IR HYE Y §Y G ST UHE JIerE a1 1 2
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2. 94§15 SYHRI & Gdido
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[Question ID = 22031][Question Description = 140_10_SWK_0CT22_S2_Q40]
1. 1 [Option ID = 28121]
2. 2 [Option ID = 28122]
3. 3 [Option ID = 28123]
4. 4 [Option ID = 28124]



41) What are the types of organisational structure?

A, Bureaucratic structure
B. Divisional structure

C. Social structure

D. Matrx structure

Choose the correct answer from the options given below;
1.4, Band Conly
2.B, Cand D only
3.A BandDonly
4.4 CandDonly
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[Question ID = 22032][Question Description = 141_10_SWK_0CT22_S2_Q41]
1. 1 [Option ID = 28125]
2. 2 [Option ID = 28126]
3. 3 [Option ID = 28127]
4. 4 [Option ID = 28128]

42) The Convention onthe Rights of the Child includes

A. Right to life

B. Right to acquire nationality

C. Right to family environment

D. Right to have equality before the law

Choose the correct answer from the options given below;
1.4, B and Conly
2.8, Cand D only
3.4 Band Donly
4. A Cand Danly
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[Question ID = 22033][Question Description = 142_10_SWK_0CT22_S2_Q42]
1. 1 [Option ID = 28129]
2. 2 [Option ID = 28130]
3. 3 [Option ID = 28131]
4. 4 [Option ID = 28132]

43) Which of the following elements of the group dynamics emerge as a part of group:

processes‘and development?
A, Sub-groups:

B, Group conflict

C. Group formation

D. Isolate

E. Scapegoat

Choose the correct answer from the options given below:
1.4, B Cand Donly
2.B,C DandE only
3.A B DandE only
4 4 C DandE only
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[Question ID = 22034][Question Description = 143_10_SWK_0CT22_S2_Q43]
1. 1 [Option ID = 28133]
2. 2 [Option ID = 28134]
3. 3 [Option ID = 28135]
4. 4 [Option ID = 28136]

44) The Sexual Harassment of Women at Workplace (Prevention, Prohibition and

Redressal) Act, 2013; defines sexual harassment as:
A, Physical contact and advances

B. A demand or reguest forsexual favours

C. Performance at workplace

D. Making sexually coloured remarks

E, Showing pormography

Choose the correct answer from the options given below;
1.A, B, Cand Donly
2.4 B DandE only
3.8, C DandE only
4. A CDandE only
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[Question ID = 22035][Question Description = 144_10_SWK_0CT22_S2_Q44]
1. 1 [Option ID = 28137]
2. 2 [Option ID = 28138]
3. 3 [Option ID = 28139]
4. 4 [Option ID = 28140]

43) What are the determinants of health?

A. Geological factors

B. Individual factors

C. Socio-cultural facters
D. Socie-econemic factors

Choose the correct answer from the options given below:,
1. A, Band Conly
2.4 Band D only
3.B, Cand D only
4.4 Cand Donly
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[Question ID = 22036][Question Description = 145_10_SWK_0CT22_S2_Q45]
1. 1 [Option ID = 28141]
2. 2 [Option ID = 28142]
3. 3 [Option ID = 28143]
4. 4 [Option ID = 28144]

46) Which of the following statements are true about the relationship between Seciology

and Social work?

A, Sociology helps sccial workers to explore and explain the nature of inequality,
B. Sociology and Social work are one and the same,

C. Sacial work is an applied form of Sociology,

D. Social work derives its raw material from Scciology.

Choose the correct answer from the options given below:
1.4 and B only
2. B and Conly
3. Cand D only
4. 4 and D anly
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[Question ID = 22037][Question Description = 146_10_SWK_0CT22_S2_Q46]
1. 1 [Option ID = 28145]
2. 2 [Option ID = 28146]
3. 3 [Option ID = 28147]
4. 4 [Option ID = 28148]

47) Which of the following approaches are related to the community work identified by

RossT?

A, Specific content approach
B. General content approach
C. Process appreach

D. Holistic approach

Choose the correct answer from the options given below:,
1. A, Band D only
2.B, Cand D only
3.4 Band Conly
4.4 Cand Donly
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[Question ID = 22038][Question Description = 147_10_SWK_0CT22_S2_Q47]
1. 1 [Option ID = 28149]
2. 2 [Option ID = 28150]
3. 3 [Option ID = 28151]
4. 4 [Option ID = 28152]

48) Domestic violence could manifest in any of the following forms:

A, Physical abuse

B. Sexual abuse

C. Verbal abuse

D. Emotional abuse

E. Psychological abuse

Choose the correct answer from the options given below;
1.A, B, Cand Donly
2.8, C, DandE only
3.A C DandE only
4. A B DandE only
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[Question ID = 22039][Question Description = 148_10_SWK_0CT22_S2_Q48]
1. 1 [Option ID = 28153]
2. 2 [Option ID = 28154]
3. 3 [Option ID = 28155]
4. 4 [Option ID = 28156]

49) What are the tools of Participatary Research Appraisal (PRA)7

A, Venn diagram

B. Social mapping

C. Timeline

D. Observation chart
E, Evaluation process-

Choose the correct answer from the options given below;
1.4, B Cand Eonly
2.A B DandE only
3.A B Cand Donly
4. B C DandE only
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[Question ID = 22040][Question Description = 149_10_SWK_0CT22_S2_Q49]
1. 1 [Option ID = 28157]
2. 2 [Option ID = 28158]
3. 3 [Option ID = 28159]
4. 4 [Option ID = 28160]

>0 Socielogy helps professional sodial workers to;

A, Understand how the structures of society shape individual experiences
B. Explore individual experiences based on interaction with others

C. Explore and explain social relationships:

D. Develop intervention plan for social problems:

E, Understand and interpret social situations.

Choose the correct answer from the options given below;
1.A, B, Cand Donly
2.8, C, Dand E only
3.A B CandEonly
4. A C DandEonly
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E. IS (&l & 9HeH e e &3

e fou e famed 3 § 98l S 9 -
1. BT A, B, CHRD
2. Ha B, C, D3IRE
3. FadA B CHRE
4 FaAA C DIRE

[Question ID = 22041][Question Description = 150_10_SWK_0CT22_S2_Q50]
1. 1 [Option ID = 28161]
2. 2 [Option ID = 28162]
3. 3 [Option ID = 28163]
4. 4 [Option ID = 28164]

1) Which of the following rights are fundamental rights for Indian citizens?

A, Right to freedom of religion

B. Cultural and Educational rights
C. Right to constitutional remedies
D. Right to property

Choose the correct answer from the options given below;
1.4, Band Conly
2.B, Cand D only
3. A Cand Donly
4. 4 BandDonly



HIRTG AR & Hod SYeRI & w9 § aivfd AfeR a3 7
A, Uit Saad o1 SR

B. Ui ud 9id® SMiieR

C. HaHI® JUER] &1 3B

D. HOiR &1 HfEPR

i< fou e faded § S 98l S g
1. BT A, B IR C
2. FAFAE, CHRD
3.FadaA CHRD
4 FaAA BIARD

[Question ID = 22042][Question Description = 151_10_SWK_0CT22_S2_Q51]
1. 1 [Option ID = 28165]
2. 2 [Option ID = 28166]
3. 3 [Option ID = 28167]
4. 4 [Option ID = 28168]

52) What are the organisations associated with Ministry of Social Justice and

Empowerment?

A, National Commission for Scheduled Castes

B. National Commission for Safai Karmchari

C. Naticnal Commission for Protection of Child Rights

D. National Cemmission for Denotified Nomadic and Semi-nomadic Tribes
E, National Commission for Backward Classes

Choose the correct answer from the options given below:
1.4, B Cand Donly
2.A B DandE only
3.A B CandEonly
4. B C DandE only



ATE A1 T A IS Aaeg § 46 oA dH 8 8 7
A, PTG Sggfo St STan
B, AP WHTE SHINI AR
C. P <1 DR LT AR
D. WA IR fugiEd uHg, s gHg o ST
E. A1 fUssT & S
i feg e fawedl § S W1 IR 9 ;
1. @49 A, B, CHRD
2. %A A, B, DIRE

3. Fa A, B CARE
4 97 B C DIRE

[Question ID = 22043][Question Description = 152_10_SWK_0CT22_S2_Q52]
1. 1 [Option ID = 28169]
2. 2 [Option ID = 28170]
3. 3 [Option ID = 28171]
4. 4 [Option ID = 28172]

>3) Which sections of the Income Tax Act, 1961 are relevant for registered

voluntary organisations:iri India?
A12A

B.35 AC

C.80G

D.20DT

Choose the correct answer from the options given below;
1.8, Cand D only
2.A Band Conly
3.A BandDonly
4.4 CandDonly



YRT H Jolida W= W61 od WRRTE AGe] HETT 1961 & @H 4 4T
e U g 7

A 12T
B.35 0.
C.80 Sl
D.20 S

I fau e famadl 4 G Wel S 9 -
1. &9 B, C AR D
2.FadA BARC
3.FaAA BHRD
4 FaAA CHRD

[Question ID = 22044][Question Description = 153_10_SWK_0CT22_S2_Q53]
1. 1 [Option ID = 28173]
2. 2 [Option ID = 28174]
3. 3 [Option ID = 28175]
4. 4 [Option ID = 28176]

>4) The concepts of centre and periphery are useful for describing

A, Spatial relationships

B. Social relationships

C. Connection between spatial and social relationship
D. Cause and Effect relationship

Choose the correct answer from the options given below:,
1.4, Band Conly
2.B, Cand D only
3.4, Cand Donly
4.4 Band D only

@5 AR R @ OmHegd HEiiigd o) JRe H J9gi & -
A, WED gay

B, TGS gay
C. W% Ud gHIfe® g9y & 99 $Hal
D. B Td THTT Tee

i fou e faded § @ 98] S 9 ;
1.HTAA BARC
2. Fad B, C 3R D
3.®adAA C3RD
4 FAAABIAND



[Question ID = 22045][Question Description = 154_10_SWK_0CT22_S2_Q54]
1. 1 [Option ID = 28177]
2. 2 [Option ID = 28178]
3. 3 [Option ID = 28179]
4. 4 [Option ID = 28180]

55)

=

What legal entities are available for Net-for-profit organisations in India?
A, Cooperative

B, Trust

C. Not-for-profit Company

D. Society

Choose the correct answer from the options given below;
1.4, B and Conly
2.8, Cand D only
3.4, Cand Donly
4. A BandDonly

HIRe H SHTTHEN] $T841 5 IUcie faee G $H U & ?
A TEFBH]

B, T

C. SRIHSRI PUT

D. HEEel

I feu e famadl 4 G e ST g -
1. BT A, B IR C
2. FaF B, CHARD
3.FadaA CHRD
4 FaAABIARD

[Question ID = 22046][Question Description = 155_10_SWK_0CT22_S2_Q55]
1. 1 [Option ID = 28181]
2. 2 [Option ID = 28182]
3. 3 [Option ID = 28183]
4. 4 [Option ID = 28184]



>6) What is the focus of critical analysis?

A, Collecting facts and analysing the situation
B. Giving-orders to staff

C. Focusing on positive aspects

D. Follewing instructions of the authority

Choose the correct answer from the options given below;
1.4, Band Conly
2.B, Cand D only
3.A BandDonly
4.4 CandDonly

AT TP (G P g (g 9T 8 7

A, T &1 Uthdl @3] B4 1efd &1 [aeegu &1
B, BHANE! B AGT &l

C. UPRIHS U4 0 58 &1

D. USRI & il &1 UieH S

d fau 71C fadedl 4 4 el IR 91 :
1.HFAA BARC
2. %adA B, CHRD
3.FadA BIAND
4, FaaA CHRD

[Question ID = 22047][Question Description = 156_10_SWK_0CT22_S2_Q56]
1. 1 [Option ID = 28185]
2. 2 [Option ID = 28186]
3. 3 [Option ID = 28187]
4. 4 [Option ID = 28188]



>7) Which of the following secial security schemes are provided to the unorganised

sector by the Government of india?

A, Health Insurance Scheme for Weavers

B. Pradhan Mantri Kisan Mandhan Yejna

C. Naticnal Pension Scheme for Traders and Self-employed persons
D. Accident Coverage for Gig workers

Choose the correct answer from the options given below:,
1.B, Cand D only
2. A Cand Donly
3.4 Band Conly
4. & and C only

HIRA BIDR 1 TR W i6d &4 @I UG SiET e Geal el HRiRed § 9 @1 4l
87

A, GBR| o (07T a1 &H] gieH]

B. YU HAT &8 |1 o e

c. gl ud wafafea efdadl & forg e tee diee
D. T ERfmatel & g oo gRan

Id fou 71¢ fadedl 4 4 U6l IR 9 -
1. ®a0 B, C HR D
2.FadA CHRD
3. FadABARC
4. FATAARC

[Question ID = 22048][Question Description = 157_10_SWK_0CT22_S2_Q57]
1. 1 [Option ID = 28189]
2. 2 [Option ID = 28190]
3. 3 [Option ID = 28191]
4. 4 [Option ID = 28192]



>8) The objective of National Urban Livelihood Mission are related to:

A, Livelihood concerns of the urban street vendors.,

B. Creating opportunities for skill development for market based employment.
C. Providing housing te rural migrants,

D. Helping to set-up self-employment venture by ensuring easy access to credit.

Choose the correct answer from the options given below;
1.4, Band Conly
2.A BandDonly
3.B, Cand D only
4.4 CandDonly

P TR SATsiiae] HE @ 59 Sl 5 -

A, 7Y f3oel] BT SATlfad] B WDR

B. SR AR UHIR o B1<Ie [GeT9 & AGER grad B3]

C. T FaIRal & 75 / HTaR U oAl

D. U I HRa Gael GHIET Bid @ AR 354 WG - o Gg9n]

d fau 71C fadedl 4 4 el IR 91 :
1.HFAA BARC
2.FaAA BIARD
3, Pad B, CHRD
4, FaAA CHRD

[Question ID = 22049][Question Description = 158_10_SWK_0CT22_S2_Q58]
1. 1 [Option ID = 28193]
2. 2 [Option ID = 28194]
3. 3 [Option ID = 28195]
4. 4 [Option ID = 28196]



39) The Mational Commission for Allied and Healtheare Profession Act, 2021 includes

A, Clinical Social Workers

B. Psychiatric Social Workers
C. Medical Social Workers:
D. School Social Workers

E. Oncology Social Workers

Choose the correct answer from the options given below;
1.4, Band Conly
2.4 Band D only
3. A, Cand Danly
4.C, Dand Eanly

P Heig Ud W1 GE-39 SAGHT TN HUFHTH 2021 # @A © -
A, IS TEife® Siad

B. 7: Taferedia wrTfore wdmal

C. Hrdfd | SE®dl

D. fagerdl gfoe Sdd

E. B U HISi® Sl

I feu e famadl 4 G e ST g -
1. BT A, B IR C
2.FaAA BHARD
3.FadaA CHRD
4 FaACD AR E

[Question ID = 22050][Question Description = 159_10_SWK_0CT22_S2_Q59]
1. 1 [Option ID = 28197]
2. 2 [Option ID = 28198]
3. 3 [Option ID = 28199]
4. 4 [Option ID = 28200]



60) Which of the following reform movements were impressed and influenced by

western thoughts?

A, Arya Samaj

B. Brahmo Samaj

C. Prarthna Samaj

D. Satya Shodak Samaj

Choose the correct answer from the options given below:,
1.4, Band Conly
2.B, Cand D only
3.4 Cand Donly
4.4 Band D only

Fafeied 4 9 o1 ¥ guR sicey nigi e g ouieg ¥
A, T THIS

B. & A

C. W ST

D. G e FHE

d feu 71¢ fadedl 4 4 96l IR 91 -
1. BIAA BARC
2. FaAE, CHRD
3.FadA CHRD
4. FAAA BHRD

[Question ID = 22051][Question Description = 160_10_SWK_0CT22_S2_Q60]
1. 1 [Option ID = 28201]
2. 2 [Option ID = 28202]
3. 3 [Option ID = 28203]
4. 4 [Option ID = 28204]



61) Which schemes are allowed through The National Secial Assistance Programme

(NSAP), underthe Ministry of Rural Development 7

A, Annapurna Scheme

B. Indira Gandhi National Old Age Pension Scheme

C. Indira Garidhi National Widow scheme

D. Paternity scheme for the Spouses of Women Construction Warkers

Choose the correct answer from the options given below:,
1.4, Cand Danly
2.B, Cand D only
3.4 Band Conly
4.4 Band D only

I BT HAATerd b ST WPg Wi Gerdd @rded (U4 UF € dl) | Fgifed §
| S 9 e WEe § 7

A, ST Gie

B. ST T ETT Fra1 U ISl

¢, ZRRTTR Ta Fer e

D. \ig HAT SHeRI & Tfod! @ oy [Uga dee

Id fou 71¢ fadedl 4 4 U6l IR 9 -
1.®ad A CHR D
2, FaAEB, C AR D
3. FadA BARC
4. FAAA BIRD

[Question ID = 22052][Question Description = 161_10_SWK_0CT22_S2_Q61]
1. 1 [Option ID = 28205]
2. 2 [Option ID = 28206]
3. 3 [Option ID = 28207]
4. 4 [Option ID = 28208]



62) Mention missions initiated by Ministry of Women and Child Development,

Government of india
A, Mission Shakti

B. Mission Jan Jagran
C. Mission Vatsalya
D. Mission Atal

E Mission Poshan

Choose the correct answer fram the options given below;
1.4, Cand Donly
2. A Cand Eonly
3.B, D and Eanly
4. 4 BandDonly

Afea IR A1F e Haey; YR TeR N 9% 6 e fBemf @ g @8
A, B widg

B. A &9 SR
c. EH A

D. fEF oem

£, g o

id feu 71t fadedl 4 4§ el IR 91 -
1.@gd A C3HRD
2. FadA CHRE
3, Pad B D ARE
4, FadA BIHRD

[Question ID = 22053][Question Description = 162_10_SWK_0CT22_S2_Q62]
1. 1 [Option ID = 28209]
2. 2 [Option ID = 28210]
3. 3 [Option ID = 28211]
4. 4 [Option ID = 28212]



63) What are the expected outcomes of project evaluation?

A, Effectiveniess of the project
B. Efficiency of the project

C. Cancellation of the project
D. Replicability of the project

Choose the correct answer from the options given below;
1.4, Band Conly
2.B, Cand D only
3.A BandDonly
4. A Cand Donly

Ui GRie & UG aRonE @ e ;
A, UGS BT TIfaa

8, IR B S

C. gfeieHT &1 RS

D. URAISHT &1 ol A

d fau 71C fadedl 4 4 el IR 91 :
1.HFAA BARC
2. %adA B, CHRD
3.FadA BIAND
4, FaaA CHRD

[Question ID = 22054][Question Description = 163_10_SWK_0CT22_S2_Q63]
1. 1 [Option ID = 28213]
2. 2 [Option ID = 28214]
3. 3 [Option ID = 28215]
4. 4 [Option ID = 28216]

64) The International Human Rights comprises of the followings -

A. The Universal Declaration of Human Rights, 1948

B. The International Covenant on Civil and Political Rights, 1966

C. The Charter of Economic Rights and Duties

D. The International Covenant an Economic, Social and Cultural Rights, 1966

Cheose the correct answer from the options given below;
1. A, Band Conly
2.B, Cand D only
3.4, Band D only
4, A 'Cand Donly



SR AFAeR # e e &

A, FFE HRUBRI B QIEHIHE 91907, 1948

B. ARTR® AR Ya-ifae HUPR Hael iqREd usiaar, 1966
C. M@ SR 3R Tvied] P AeT

i< fou e faded § S 98l S g
1. BT A, B IR C
2. FAFAE, CHRD
3.FadA BIARD
4 FaAA CHRD

[Question ID = 22055][Question Description = 164_10_SWK_0CT22_S2_Q64]
1. 1 [Option ID = 28217]
2. 2 [Option ID = 28218]
3. 3 [Option ID = 28219]
4. 4 [Option ID = 28220]

63) What are the features of secondary groups?

A, Large size

B. Personal orientation

C. Secondary relations

D. Formal commurications

Choose the correct answer from the options given below;
1.4, Band Conly
2.B, Cand D only
3.4 Cand Denly
4.4 Band D only

fexciTae sl @i oA a8 7
A. TG T

8. 30fGa® Uiy (SHUEam)
c, fedias ey

D. Hu=RE HuE

id feu 71t fadedl 4 4§ el IR 91 -
1.HFAA BARC
2. %adAB, CHRD
3.FadA CHRD
4, FaAA BIHRD



[Question ID = 22056][Question Description = 165_10_SWK_0CT22_S2_Q65]
1. 1 [Option ID = 28221]
2. 2 [Option ID = 28222]
3. 3 [Option ID = 28223]
4. 4 [Option ID = 28224]

66) " Match List I with List 1l
List | List Il
Commission/Committees Year
A. Reyal Commission on Labour 1.1946
B. First National Cemmissicn on Labour II. 2002

C. Second National Commission on Labour |IIl. 1863

0. Bhore Committes V. 1822

Choose the correct answer from the options given below:
TA-IVB-LC-1,D-1
2.A-1LB-1,C-M,D-1II
A-IVB-UILC-1ILD-1
4 A-LB-LC-1,D-IV

Tl - @ g9l -1 ° g eI

-1 I -0
S / 9t HTE

A, 1GT SHIEA SfH tEt 1. 1946

8. U AT @S HH a8t II. 2002
C. fedia AzHa oHEE HH da i1l. 1969
D. YR @A Iv. 19289
7 23U T fadedl 6 9§ 9al 3 g0

T.A-IW,B-LC-1I, D=1l
2ZA-ILB-LC-IM,D-1l
SA-MB-HILC-IL D=
AA-LB-ILC-1LD- IV

[Question ID = 22057][Question Description = 166_10_SWK_0CT22_S2_Q66]
1. 1 [Option ID = 28225]
2. 2 [Option ID = 28226]
3. 3 [Option ID = 28227]
4. 4 [Option ID = 28228]



67)  atch List I with List 1l

List | List Il
Theories/Concepts Propounded/Coined by
A. Iron Law of Oligarchy I. Merton

B. Theory of Deviance II. Robert Mitchel

C. Theory of Sanskritisation Il M. N. Srinivas
D.Theory of Conscientization IV. Paulo Freire

Choose the correct answer from the aptions given below:
T.A-UB-ILC-IV,D-|
2ZA-1LB-LC-I,D- IV
A-LB-LC-ILD-IV
4 A-IV,B-LC-I,D-0

Tl - @ gl -1l H e DI ;

GEIR I -1

RygTa/uromg g T T /e
A, e B A TN I e

B. fawm=Ia @1 sl 11, e e

C. Hwpiamu &1 gl i1l TH, T4, diFa

D. 37: YUYl o s V. TT3TE T

7 fau U faweat H € wE SR I

T.A-NLB-ILE-IV,D=I
ZA-ILB-LC-lILB-IV
SA-LB-ILC-1LD- IV
4A-IMB-LC-UI, D=1

[Question ID = 22058][Question Description = 167_10_SWK_0CT22_S2_Q67]
1. 1 [Option ID = 28229]
2. 2 [Option ID = 28230]
3. 3 [Option ID = 28231]
4. 4[Option ID = 28232]



68) Match List | with List 11

List | List 1l

Year of Occurence
Global Disaster Reduction Initiative

A. Resolution Adoption for International Decade for

National Disaster Reduction s
B. ¥Yokohama Framework . 2015
C. Hyogo Framework 1. 1987
D. Sendai Framewark IV. 2005

Choose the correct answer from the options given below:
T.A-UB-LC-IV,D-I
2ZA-LB-ILC-IVD-1
FA-ILB-ULE-IV,D-1
A A-LB-1,C-1,D- IV

Tl - @] gl -1l e DI ;

I -1 I -1l
& onugT #1 FH ¥ T uew dee ;‘?m
A. TIPIae TG B BH| & (L SHRIPY o2 31 ——
i .

B. Oimig™ aligl II.2015
C. @ e 1. 1687
D. 99815 Bl V. 2005
i R e [ddedl H 9 el St 9T

T.A-N,B-LC-IV, D=
ZA-LB-NLC-IV,D-l
SA-ILB-N,E-1V,D-|
AA-LB-ILC-NLD-V

[Question ID = 22059][Question Description = 168_10_SWK_0CT22_S2_Q68]
1. 1 [Option ID = 28233]
2. 2 [Option ID = 28234]
3. 3 [Option ID = 28235]
4. 4 [Option ID = 28236]



69) Match List | with List 11

List |

List i

Government Schemes

Government Ministry

A, PM Kisan Samman Nidhi Yojana

Enterprises

B: PM E-Vidya

Welfare

C. PM Employment Generati
Programme

on

D. PM Rojgar Protsahan Yojana

IV, Ministry of Education

Choose the correct answer i1
T.A-LB-ILC-1ILD-IV
2ZA-ILB-IV,E-1II, D -]
JA-ILB-IV,E-|,D-1ll
L A-LB-ILC-IVD-I

e -1 1 -1l e B ;

om the options given below:

= -1

g -1

A P M oaF oA Bl g |1 988, oY R 9ed 399 A
B.P'M 3 fEen i1, P AR e S H=wY
C. P M ISHIR SdIGH S lil. 58 3R ISR HA

D. P M TSR WicaTe aie] Iv. FRre Herer

7 f2u T f[adedl H 9§ el S g

1T.A-1,B-Il,E-Il, D-1V
2eA LB -V E-1, B =]
3A-LB-IMC-L, D=1l
AA-LB-NLC-IV,D-1

[Question ID = 22060][Question Description = 169_10_SWK_0CT22_S2_Q69]

1. 1 [Option ID = 28237]
2. 2 [Option ID = 28238]
3. 3 [Option ID = 28239]
4. 4 [Option ID = 28240]

I. Ministry of Micro, Small and Medium

I, Ministry of Agricultural and Farmers®

I, Ministry of Labour and Employment




70) Match List | with List 11

List | List I
Concept .

Meaning
A. Hypergamy I, The marriage of one male with two or more females:
B. Polygyny Il. Marriage within the class or caste
C. Endogamy lll. The marriage takes place outside the group

IV. The marriage of the daughter in the superior and
D. Exagamy 3

noble family

Choose the correct answer from the options given below:
TA-LB-ILC-1LD-IV
ZA-ILB-ULE-IV,D-1
FA-VB-LC-l,D-M
AA-1,B-1V,C-1,D-1

Tl - @] gl -1 e DI ;

= -1 g -1

URmY 32

A. SR 19918 |1 U9 UBH @] al 91 51 9 SiUs Aleansl © Wy faas
B.UEU@I@:  |Il. T @1 SR olid & 316 [ddTe

C odfdare | Tl g 1 e T faare
p.afefdaE  |Iv. I oIR Foid URaR § EH @ f[aaw
- e e fawedl H 9§ 96 S A
TA-1,B-1I,E-1ll, D-1V

2 A-U,B-U,C-V,D-

3.A-IV,B-1,C-1l, D1

4. A-N,B-IV,C-1, DIl

[Question ID = 22061][Question Description = 170_10_SWK_0CT22_S2_Q70]
1. 1 [Option ID = 28241]
2. 2 [Option ID = 28242]
3. 3 [Option ID = 28243]
4. 4 [Option ID = 28244]



1) Match List | with List 11

List | List 1

Research Design/Method Explanation

A. Oral history l. Quantitative data

B. Survey Il. People’s knowledge

C. Sampling Il In-depth study of a unit
D. Case study IV. Representative of a whole

Choose the correct answer from the options given below:
TA-LB-ILC-1ILD-IV
2.A-1LB-1,C-V, D=1l
JA-NB-IV,C-1,D-1
4 A-IVB-INLC-Il,D-1

Tl - @] gl -1l H Ao DI ;

GEIR -1

A, TiiEd sfae™ [ TS Hids

B, A& I T B 3

C. HidGRuRy Ii1, Ueh GJ-I2 @1 718 3y
D. B9 HETH v, Tt @1 ufafty

Id TGu ¢ fapedl H 4§ gl S’ e ;

1.A-1LB-I,C-1I,D-1V
2ZA-I,B=-LC-I, D=1l
.A-I,BE-IV,C-], D=1l
4A-IWB-IILC-1I,D~1

[Question ID = 22062][Question Description = 171_10_SWK_0CT22_S2_Q71]
1. 1 [Option ID = 28245]
2. 2 [Option ID = 28246]
3. 3 [Option ID = 28247]
4. 4 [Option ID = 28248]



72) Match List | with List 11

List | List Il
Exponents

Concepts pa
A. Cognitive behavioural group work

o8 grolip I Kurt Lewin
model
B. Social distance scale II. C. H. Cooley
C. Primary groups Il Emory S. Bogardus
D. Group Dynamics V. S. D. Rose

Choose the correct answer from the options given below:

T.A-LB-ILC-ILD-IV
2A-IVB-IILC-Il,D -1
JA-NB-LE-LB-IV
4.5-1,B-1L,C-1V,D-1I

Tl - @] gl -1l e DI ;

T -1

A, THIES DR Y4E DU Hisd I @e giad

B, TS o3l AUGS | e o

C. WYiE® 95E i1, 3AN 09, Se g
D. THE Ta-fay= Iv. THEIRE

i feg e fawent & 4 WeI S gHT:

T.A-L,B-I,C-1l, D-IV
ZA-IV,B-1l,C-1l, D=1
SA-,B-ILC=], D=1V
4A-,B=1,C=IV, D=1l

[Question ID = 22063][Question Description = 172_10_SWK_0CT22_S2_Q72]

1. 1 [Option ID = 28249]
2. 2 [Option ID = 28250]
3. 3 [Option ID = 28251]
4. 4 [Option ID = 28252]




73) Match List | with List 11

List | List I
Sustainable Developmental Goals o

Objective

l. Good Health and Welibei
A. Goal No 1 d e
B. Goal No2 Il. Zero Hunger
C. Goal No 3 1. Quality Education
D. Goal No 4

V. No Poverty

Choose the correct answer from the options given below:

T.A-LB-ILC-ILD-IV
2ZA-LBE-ILC-IV,D-1I
FA-IVB-TILE-Il,D-1
4.5-IV,B-ILC-1,D-MI

Tl - @] gl -1l e DI ;

T -1 = -1

wae faera & 95 EERS]

A Feu 1 I, 5] ¥ary R |EeTel
B.dexg 2 11, HE

C. 33 11, L& T

D. 959 4 I, TRIE @1 7 8

¥2 Ru e fawwdl § 9 W S g

T.A-LB-ILC-1Il, D-IV
2ZA-LB-ILC-M,D-H
SA-MB-HILC-I,B=|
LA-MB-ILE-[, D=1

[Question ID = 22064][Question Description = 173_10_SWK_0CT22_S2_Q73]

1. 1 [Option ID = 28253]
2. 2 [Option ID = 28254]
3. 3 [Option ID = 28255]
4. 4 [Option ID = 28256]




74) Match List | with List 11

List | List 1l

Scholars Concepts

A. Auguste Comte I, Structural Functionalism
B. Emile Durkheim II. Dialectic Materialism

C. Talcott Barsons lll. Functionalism

D. Kari Marx IV, Positivism

Choose the correct answer from the aptions given below:
TA-LB-ILC-1ILD-IV
2ZA-1LB-L,C-I,D- IV
A-NLB-IVC-ILD-]
AA-IV,B-ILC-1,D-1

! - @ g -1l H Ao DI ;

GEIR T -1

IEEg YT

A, TR DI (. GRS USag
B. 3OEG GUH I\, GETe® Hifddas
C. Tlade UREH I11. JepTdaTg

D. @A A V. &G

7 fau U faweat | © wEi SR g

T.A-LB-ILC-1l, D-IV
ZA-ILB-LC-lILB-IV
SA-IB-NMC-I,B=|
4A-IVB-NILC-LD=1

[Question ID = 22065][Question Description = 174_10_SWK_0CT22_S2_Q74]
1. 1 [Option ID = 28257]
2. 2 [Option ID = 28258]
3. 3 [Option ID = 28259]
4. 4 [Option ID = 28260]



73) Match List | with List 11

List | List 11

Stages of Social Action Strategies

A. Developing Awareness |. Ca-operation

B. Organization Il. Research and Education

C. Strategies lll. Joint Action

D. Actien IV. Arbitration and Negotiation

Choose the correct answer from the aptions given below:
TA-LB-1ILC-1ILD-IV
2.A-1LB-1,C-V,D-1I
LA-NLB-IV,C-1,D-1
4 A-IVB-INLC-lIl,D-1

Tl - @] gl -1l H e DI ;

GEIR = -1

HTHToTe foman & Iwr ATt

A, T B [P He |, GEBIL

B. 9B I1. ITer AR g

C. BRIl 111, T B

D.H 7 I, TTRERAT TaH T
e fau o faweat H € wEr SR I

T.A-LB-ILC-1Il, D-IV
Z-A-LB =L E= D=1l
3A-LB-IV,C-LD=Il
4A-MB-H,C-ILD=I

[Question ID = 22066][Question Description = 175_10_SWK_0CT22_S2_Q75]
1. 1 [Option ID = 28261]
2. 2 [Option ID = 28262]
3. 3 [Option ID = 28263]
4. 4[Option ID = 28264]



76 A i / } »
) In the Constitution of India, there are articles {(sections) related to Right to Freedom,

Arrarige these articles in sequence.

A, Freedom of speech and expression, association and movement
B. Right to life and liberty

C. Protection with respect to conviction for effences

D. Right to education

E, Protection against arrest and detention in certain cases

Choose the correct answer fraom the options given below
1.ABCDE
2.ACBDE
3.BADEC
4 CEBAD

YIRe & AU & 9ol & AeR § 9efi arsiey U R TE 1 9 of=ial &
HHHER Haiyd Sifa|

A, 1% R e, Tie=d #N Aol @1 Qo
B. Sia AR Tdaar 9ae ATHR |

C. 3RTYT & SRelE & Hey J gl

D. f2r&r @1 iR

E. TS A0 H TRER] AR FRIY & [Gos 9eam

i fau g faeedl § § W8l S 9 ;
1A B,C.DE
2.A,C.BDE
3.BADEC
4.CEBAD

[Question ID = 22067][Question Description = 176_10_SWK_0CT22_S2_Q76]
1. 1 [Option ID = 28265]
2. 2 [Option ID = 28266]
3. 3 [Option ID = 28267]
4. 4 [Option ID = 28268]



7 Arrarige the legislations for the children by the year of their enactment.

A, Protection of Children from Sexual Offences Act
B. The Infant Milk Substitute Act

C. Prohibition of Child Marriage Act

D. Child Marriage Restraint Act

Choose the correct answer from the options given below
1T.ABCD
2.B,CDA
3.C,DAB
4 DB CA

e ad & SER 9= g fauH & oaaiyT $ifau ;
A, TRTE SOl T arad! & g A

8. T g% 3Py AfUFa
c. 9T f5ars wiany fufan
D. &4 fgars favre fafgs

i fau g fadedl H 4§81 I 9 -
1.ABCD
2.B,C,D,A
3.C,D A B
4.0,8,C A

[Question ID = 22068][Question Description = 177_10_SWK_0CT22_S2_Q77]
1. 1 [Option ID = 28269]
2. 2 [Option ID = 28270]
3. 3 [Option ID = 28271]
4. 4 [Option ID = 28272]



78) Arrarige the sequences of hypethesis formulation and testing

A, State the null hypothesis

B. State the level of confidenice

C. Select the statistical test

D. Accept or Reject null hypothesis
E, Draw inference

Choose the correct answer from the options given below
1.ABCDE
2.CBAED
3.ACBDE
4 B8CAED

UGG U] B0 31T TR - oy HH ol Haredd Sy ;
A. I Ulaeeg1 ®I aui Sl

B. o™ & &R &1 9UiF HET

C. HifEaeg T{ien &1 94

D. S U]

E. SFEM T

i TeT 1Y [9edl § § W6l S 9 ;
1.A B CDE
2.C,BAED
3.ACBDE
4BCAED

[Question ID = 22069][Question Description = 178_10_SWK_0CT22_S2_Q78]
1. 1 [Option ID = 28273]
2. 2 [Option ID = 28274]
3. 3 [Option ID = 28275]
4. 4 [Option ID = 28276]



79 - h e ; -
) Arrarige the following in sequential order of research process,

A. How to do?
B. What to do?
C. Whereto do?
D. What to'infer?

Choose the correct answer from the options given below
1.ABDC
2BALCD
3.0,CAE
4 CDEBA

fafafad iy ufear o HarER agwr § I
A U HE 8 ?

B.E S & ?

C. @5 B D 7

D. 71 S A § 7

fid fou 71e fasedl 5 4 Wel O 9 ;

1.A,BDC
2.B,ACD
3.D0,CAEB
4 CDEA

[Question ID = 22070][Question Description = 179_10_SWK_0CT22_S2_Q79]
1. 1 [Option ID = 28277]
2. 2 [Option ID = 28278]
3. 3 [Option ID = 28279]
4. 4 [Option ID = 28280]



80)

Arrange the sequence of Sigmund Freud's five stages of psychosexual development,
A, Anal

B. Oral

C. Phallic

D. Genjtal

E. Latency

Choose the correct answer fram the options given below
T.0,CRBAE
2ZCABED
3.ABDCE
48BACED

s s & S (FEEaagT) e 1 g ST $f HaER
HaRYd BT

A, TEI-HEH
B, HIG®
C. Tfl®
D. FFATE
E, Sidferd

i TeT 1Y [9edl § § W6l S 9 ;
1.D.C B AE
2.C,ABED
3.ABDCE
4B A CED

[Question ID = 22071][Question Description = 180_10_SWK_0CT22_S2_Q80]
1. 1 [Option ID = 28281]
2. 2 [Option ID = 28282]
3. 3 [Option ID = 28283]
4. 4 [Option ID = 28284]



81) Arrarige the following in the order of their year of publication

A, Friendly Visiting Among the Poor
B. Homes of the London Peor

C. What is Soctal Case Work?

D. Social Diagnosis

Choose the correct answer from the options given below
1T.ABCD
2.C,BDA
3.0,CAEB
48ADC

Faffad @1 3% UeRE 04 & SJuR HaRyd BT -
A, Trgell BT @i s U3R

B. B 31 § o6 UaR

C. BT 39 9T ©F 9@ 7

D. TS STEAY

fid fou 71C fasedl 5 4 Wel O 9 ;

1.ABCD
2,CB, DA
3.D0,CAEB
48 AD0C

[Question ID = 22072][Question Description = 181_10_SWK_0CT22_S2_Q81]
1. 1 [Option ID = 28285]
2. 2 [Option ID = 28286]
3. 3 [Option ID = 28287]
4. 4 [Option ID = 28288]

82) Arrarige the steps of the process of the community organisation as given by M G

Ross

A. Matching resources with needs
B, Identification of needs

C. Mobilisation of resources

D. Priortisation of needs

Choose the correct answer from the options given below
1.ABCD
28 CDA
3.C,DAB
4.D A CE



TH. i1 Y G114 71U THEd 18- $1 Wisy] & 90 @] e iy ;
A, HEHTIH B HY GHHA B FeE|

B, HTAREGIST BT SH|

C. GHHH| & e[|

D. HIa=aEHIe &l Al oAl

7 8T TTE fadedl § 8 U8 SR 9 ;
1.AB,C.D
2.B,C,D A
3.CDAEB
4.D,ACB

[Question ID = 22073][Question Description = 182_10_SWK_0CT22_S2_Q82]
1. 1 [Option ID = 28289]
2. 2 [Option ID = 28290]
3. 3 [Option ID = 28291]
4. 4 [Option ID = 28292]

83) Social work education in India started with the first four schooels of social work.

Arrarige these first four schoels according to the order of establishment,
A, Delhi School of Social Work

B. Sir Dorabji Tata Graduate School of Social Wark

C. Madras School of Social Werk

D. Mahatma Gandhi Kashi Vidyapeeth

Choose the correct answer from the options given below
1.B,ADC
2.AEBDC
3.B.D.AC
4.CBAD



Ra o gar S R ware B & OF un 9R Wl & Oy Uiy @1 T 39 1Yy
AR Wil D] B U] Blel & HTER oaeyd B |

A, CTET TP 1P Tiere ad
B. T GRS CIeT UHEe Tpel ik WL 96
C. HeM W30 1B 99 9
D. FETeE1 4] el faedie

i feE 71¢ faedl  § W6l ST g ;
1.B,AD,C
2.AB,D,C
3.BDAC
4.CBAD

[Question ID = 22074][Question Description = 183_10_SWK_0CT22_S2_Q83]
1. 1 [Option ID = 28293]
2. 2 [Option ID = 28294]
3. 3 [Option ID = 28295]
4. 4 [Option ID = 28296]

84) In the history of Social Work in England, there are five milestones emphasized.

Arrarige in the ascending order
A. Charity Organisation Saciety

B, Settlement House Movement
C. Community Chest Movement
D. Poor Law Report

E, Beveridge Report

Choose the correct answer from the options given below
1.ABCDE
2BAECD
3.BACDE
4EDCBA



TS § gHI9-a1 $ siaerd § it Ug Hi-ueR] (@RwEH) ) 99 Gar e gl
I Haile! HH H ooaieyd ®ig ;

A, ARET AFTHTEeRE araad
B. Yoodc 5139 gate

C. HHHS] 9 gaHe

D. G&R dl [4gre

E. safvs Rufe

7 8T TTE fadedl 5 ¥ 98 SR 9 -
1.A.B,C.DE
2.B,AECD
3.8 A CDE
4.ED,CB A

[Question ID = 22075][Question Description = 184_10_SWK_0CT22_S2_Q84]
1. 1 [Option ID = 28297]
2. 2 [Option ID = 28298]
3. 3 [Option ID = 28299]
4. 4 [Option ID = 28300]

85)

Arrarige In sequence the following in order-of their oecurence, starting from the
earliest

A, Declaration of Millennium Development Goals
B. Dedlaration of Sustainable Development Goals
C. Bruntland Report

D. Earth Summit

Choose the correct answer from the options given below
1.ABCD
2.0,ACE
3.CDAE
4CADE



Y T UHH B 5U FFIEa B 346 Ued & & $H B el 3eH J saieya
@ifo

A, TEtalies [oma el @ g

B. Wl fa@TH T&d] @l Uiy

C.3eds U

D. ged] SHTH

i feE 71e fapedl § § W6l ST 9 ;
1.ABCD
2.D,A/CE
3.CDAE
4.C A DB

[Question ID = 22076][Question Description = 185_10_SWK_0CT22_S2_Q85]
1. 1 [Option ID = 28301]
2. 2 [Option ID = 28302]
3. 3 [Option ID = 28303]
4. 4 [Option ID = 28304]

86) Given below are two statements :
Statement |: Social stratification is an arrangement of social groups inte hierarchy of
equal positions.
Statement II: Social stratification is unequal with regards to power, property, social
exclusion and psychic gratification.
In light of the above statements, choose the most appropriate ariswer from the
options given below
1. Both Statement | and Statemerit |l are correct
2. Both Statement | and Statemerit || are incorrect
3. Statement | is correct but Statement || is incorrect
4. Statement | Is incorrect but Statement |l is correct
faai s RmE:

HY - | GHITSP TR0 FaH TG & UgT3pH H SHles 9qs! ol Ha-1a-ard 6 |

FYF - || : GHISS wRIHY 84, YU, SE1® Sieseiu 3R A&® gRae ¥
HefEg sEmaT gl

Iuled BYH| & H1Eie 3 FRieiad [l H ¥ el 3w 94 -
1. YT | 3R 1 gH T B

2. FYF | AR | GH e B

3. BY TR B g 3y 1 TTEd B

4 BYF | T B, g B 1 T8l |

[Question ID = 22077][Question Description = 186_10_SWK_0CT22_S2_Q86]
1. 1 [Option ID = 28305]



2. 2 [Option ID = 28306]
3. 3 [Option ID = 28307]
4. 4 [Option ID = 28308]

87)

Given below are two statements
Statement I: Social work values shape the behaviour of professional sccial workers,

Statement Il: Social workers remain in the dialetical tension on account of their
social and professional values,

In light of the above statements, choose the most appropriate ariswer from the
options given below
1. Both Statement | and Statemerit |l are correct
. Both Statement | and Statemerit |l are incorrect
. Statement | is correct but Statement || is incorrect

B S ' I

. Statement | is incorrect but Statement |l is correct

TaciavE U g
WY - | AIUIIS UEIa® DG & OdeR B G- T AR GaH B

=

TYT - || : TS PEoal H0- GHETve HRX Aaus Agdl & SR Gae® aa 5
wA e

Iuled By & Heie o FAufiad el 3 ¥ uel 3w 35 :

1. YT | 3R || GF Tl &1
2. @Y | R 1 G TEd & |
3B I TR e, g Py 1 TTEd 8
4. @Y | e &, g ®YA 11 81 Bl

[Question ID = 22078][Question Description = 187_10_SWK_0CT22_S2_Q87]

A wnN -

88)

. 1 [Option ID = 28309]
2 [Option ID = 28310]
3 [Option ID = 28311]
4 [Option ID = 28312]

Given below are two statements, one is labelled as Assertion A and the other
isiabelled as Reasen R

Assertion A : The behaviour of the individual cannot be understood without
reference to the system to which the person belongs.

Reason R : Social systems shape the response patiern of human being.

In light of the above statements, choose the correct answer from the optians given
below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true



Ja gl Py U E:
WY - | ; TH4! Afed (099 & UagR 08 a9 71d o 164] 9 @] 98 a@
TP a1 F gy S a9 fm o, foog se gsfag Bl

Y - || T Faw 9Hd & 3] Ui @] & ool g

ST Y| & HE® 8 HEfeRad [aeedl 2 °§ e 3w O ;
1. 99T | 3R 1 S T I
2. @Y | R 1 G TEd & |
3B I TR e, g Py 1 TTEd 8
4. @Y | e &, g ®YA 11 81 Bl

[Question ID = 22079][Question Description = 188_10_SWK_0CT22_S2_Q88]
1. 1 [Option ID = 28313]
2. 2 [Option ID = 28314]
3. 3 [Option ID = 28315]
4. 4 [Option ID = 28316]

89 - ; . i
) Given below are two statements, one is labelled as Assertion A and the other

isiabelled as Reasen R

Assertion A : National Education Palicy, 2020 provides for introduction of trained
social workers into the "school complex” under schiool system.

Reason R : There is an opportunity for school sodial workers,

In light of the above statements, choose the correct answer from the optians given
below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A'is false but R is true

HY - | : TP R il 2020 fagTedl sHawT & faeTay doa J HiRiEd qEice
Fm A © Ta o WU S g

YA - 1| [AEog gEe® Sl o 9 U Haai 6l

IuUEd B & HEID 3 FHEidiad [Geedl H 8 el 3w 94 -
1. ®YF | 3R 1 ST EET gl
2. HYT I AR G T B
3L.@Y 1T 8, g @y 11 TTad § |
4, TYF | T &, [og B4 11 T8 &)

[Question ID = 22080][Question Description = 189_10_SWK_0CT22_S2_Q89]
1. 1 [Option ID = 28317]
2. 2 [Option ID = 28318]
3. 3 [Option ID = 28319]
4. 4 [Option ID = 28320]



90) Given below are two statements
Statement |: Prohibition of Child Marriages Act, 2006 is a welcome step to minimise
the incidences of the child marriages in the country,

Statement II: Legislation alone cannot stop child marriages in the country.

In light of the above statements, choose the correct answer from the options given
below

1. Both Statement | and Statemenit Il are true

2. Baoth Statement | and Statement | are false

3. Statement | is true but Statement |l is-false

4. Statement | is false but Statement [l is true

Jagl ey Bum s,

®Y - | ; §T51 (9aTe Woud fREEH- 2006, G2 H &1 W) STo-daie Heitd gee ol
WY e o [0 U WPId 4R BeH

HYF - || : B & A Y S8 J aTe-fadis UR [&UH T8 ool o Sl

IULad DYA| & AP o FHldad [ahedl H H Hol 90 91 -
1. ®Y9 | 3R 11 SHI Fel g
2. ®Y | SR I GH T B |
3.9V 1 Wel e, [P P 11 TR § |
4, BY | T &, g DY 1 T &1

[Question ID = 22081][Question Description = 190_10_SWK_0CT22_S2_Q90]
1. 1 [Option ID = 28321]
2. 2 [Option ID = 28322]
3. 3 [Option ID = 28323]
4. 4 [Option ID = 28324]

Topic:- 010_SOCIAL WORK SET2_B



1)
Answer the five questions that follow based on the given passage.

The flip side of the coin of cppression is privilege. However, compared to opprezsion
in general and anti-oppressive social work in particular, not much has been written on
privilege inthe social work literature, This is most unfortunate because the main
reason we have oppression is because we have privilege: Itis similar to the
relationship between poverty and wealth, We have poverty because we have wealth. If
we wantto truly understand poverty, we must understand wealth. If we want to truly
understand oppression, we must understand privilege:

Oppression and privilege go hand in hand. Just as privilege cpens doors of
opportunity, oppression stams them shut. We will always have oppression until we do
something about privilege. Privilege is not something we take; it is given-to us by
society if we possess the charactenistics that society values, such as being male, white,
heterosexual, affluent and non-disabled, Privilege is ‘granted’ and birth is the easiest
way of being granted privilege. There are two major reasons why we have tended 1o
ignore the issue of privilege. First, it implicates those with power, and second, it is far
easierto explore the problems faced by oppressed groups than it is to explore our
own roles in perpetuating inequality.

Which of the following is correct sbout privilege?
1. It resembles achieved status
2. 1t resonates with ascribed status
3. tt is a hard eamed commuodity
4 1t is not a granted recognition

fw U TETw F wE § i ot 9EfiE ule vt F 3=y S

SadisH & g @ GR Ued [GRNIYSR & | Ul SHAEl SidraR | SR 999 =9
U HTER F g e 9 go & 96y J 9Eiee a1 & died § e o
SR et e 71 9 offe gl € s 5o 01 HRv a8 & P ean aet
Il 999 & @1 a9ie 96 & 10 SHR UrY [q99 HUPH o | Iaiisd A GREIaeR
@ ey a1 3T U9 & 79 U9y @ 99 ¢ | 39N U HeAar 39 @Ru 9 & e AN
U 89 B 1 3G B9 W o H e & 9931 918 ol 85 99 @] 9HeHT el | Ol

£ 9%ae: Salied &f GHgHT 918 dl 84 [GUNIfU®R B8R § GHZHI eFT | Iaiis 3R
iR oF Thd 81 94 8] [RWiUeR ¥ 250 & 51 90d & Sdied g qid aa
TR Gdl ¢ | 94 0% o [QYUUIYER & §) 5 @ 614 H6H Aol 3610 &, o8 Hod Idis
@1 U &1 5 B v | [aRueR &9 o el & Sifid 98 55 YA 9 Ui sl
£, 1t 51 37 A4l &1 YRV &d & fod 99TS & Had (681 aldl & 947 o5 4T,
faeafeif, T SR - o ofe | AENTYeR Taw 8id & X o [AREueR
fET o &1 Gay Gor aNi®l o | 9 938 ISR 3 gl @1 SU&T H34 ® Ughd 34
BH & &l T &R & - T, 399 Sfed 907 il @i sfena o 9 8 AR
fadaa: SFEAMd & 9dd 9N T8 4 0+ @Y @1 YES1e] 1 ud - @1 998
difed Ogg! & 9aa 21 gl Saeisl &l o S ol HfiE HEE Bl




Fodion ooy Eefier & ar & Te &7

1. Tg UTE o9l © 9901 36T &
2. g ed a4 Sfad e &
3. U8 HER 4F T 3o 9/@gg &
4. 7% UGt Ued el &

[Question ID = 22082][Question Description = 191_10_SWK_0CT22_S2_Q91]
1. 1 [Option ID = 28325]
2. 2 [Option ID = 28326]
3. 3 [Option ID = 28327]
4. 4 [Option ID = 28328]

2)

Answer the five questions that follow based on the given passage.

The flip side of the coin of cppression is privilege. However, compared to oppression
in general and anti-oppressive social work in particular, not much has been written on
privilege inthe social work literature, This is most unfortunate because the main
reason we have oppression is because we have privilege: It is similar to the
relationship between poverty and wealth. We have poverty because we have wealth. I
we want to truly understand poverty, we must understand wealth. If we want to truly
understand oppression, we must understand privilege.

Oppression and privilege go hand in hand. Just as privilege cpens doors of
opportunity, oppression stams them shut. We will always have oppression until we do
something about privilege. Privilege is not something we take; itis given to us by
society if we possess the characteristics that society values, such as being male, white,
heterosexual, afflusnt and non-disabled, Privilege is ‘granted’ and birth is the easiest
way of being granted privilege. There are two major reasons why we have tended to
ignore the issue of privilege. First, it implicates those with power, and second, it is far
easier to explore the problems faced by oppressed groups than it is to explore our
own roles in perpetuating ineguality.

On which of the follewing, is there limited social work literature?

1. Privilege

2. Oppression
5. Poverty

4. Wealth



T U e B W ¥ ufev oY et uie et & S S

IS & e & gEY Jed [ARNIY®R & | 9y §HE-ad] SRR | IR a8y &9
U AR G grETie erd | ol & Say H gl Br o glied H ke gm
S el e 8| I8 i gy & S U@ 589 SRV 58 ¢ [ ean gl
Soite faemm BF @t aois 78 & fo o o gy ot B | Idlisa o fawiier
@1 Het FeHal R 31 & 0 UEU & 9 | 5O o FeRar g sRu U § [ eaR
o o= B 1 A 59 = ol 1 e & angE 918 ol 66 oF ) 9T el Ot

£ 95 Saite &l 99T 9ic dl 84 [ARNIU®R & aR) 8 O e | 3disd 3R
fERuIfieR G 90 81 9% 8] AYNIYeR 4§ 399 & gR 90d ¢ 306 34 ald 46
T Gl 6| 98 0@ oF [GUNIYPR & a1 H DS 619 B6H 6] 3810 6, oH Yod IdisA
&1 U &1 o e vaT | faRiieR 56 o 9e1 & i 98 85 9RO Wi el
2, 3 55 34 AHaal &1 YRU B o ford 51 & Hed 1641 9l ¢ 347 Go5: 2T,
fauAfRT, §9E 3R s B 3G | [AReiUsR e il & R o [aRuiYsR
TGU S o1 Yay gy ool o | SUH [a2E HfUER & Gl ®1 SUs H- ®] Haid Sad
£ & &l THE SR § - TYH, 399 2ifc gusl safead! o Siferd far S & 3R
fEiaa: SR & Uad 9R1 T84 3 20 W9 3 YE@iel &1 9a - 31 999
Uifed oga! & 08 o 9l 9ael & Ul S $el HidE A 8l

FEddfoe e d 99 ol Qe Sig A H e 7
1. faeiiieR
2. Idted
EREUER]
489

[Question ID = 22083][Question Description = 192_10_SWK_0CT22_S2_Q92]
1. 1 [Option ID = 28329]
2. 2 [Option ID = 28330]
3. 3 [Option ID = 28331]
4. 4 [Option ID = 28332]



3)
Answer the five questions that follow based on the given passage.

The flip side of the coin of cppression is privilege. However, compared to opprezsion
in general and anti-oppressive social work in particular, not much has been written on
privilege inthe social work literature, This is most unfortunate because the main
reason we have oppression is because we have privilege: Itis similar to the
relationship between poverty and wealth, We have poverty because we have wealth. If
we wantto truly understand poverty, we must understand wealth. If we want to truly
understand oppression, we must understand privilege:

Oppression and privilege go hand in hand. Just as privilege cpens doors of
opportunity, oppression stams them shut. We will always have oppression until we do
something about privilege. Privilege is not something we take; it is given-to us by
society if we possess the charactenistics that society values, such as being male, white,
heterosexual, affluent and non-disabled, Privilege is ‘granted’ and birth is the easiest
way of being granted privilege. There are two major reasons why we have tended 1o
ignore the issue of privilege. First, it implicates those with power, and second, it is far
easierto explore the problems faced by oppressed groups than it is to explore our
own roles in perpetuating inequality.

Which among the following is an odd one among the chiaracteristics that society
value?

1. Male

2. White

3. Heterasexual

4, Disabled

T U e B W ¥ ufev oY et uie et & S S

IS & e & gEY Jed [ARNIY®R & | 9y §HE-ad] SRR | IR a8y &9
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1 [Option ID = 28333]
2 [Option ID = 28334]
3 [Option ID = 28335]
4 [Option ID = 28336]

Answer the five questions that follow based on the given passage.

The flip side of the coin of cppression is privilege. However, compared to oppression
in general and anti-oppressive social work in particular, not much has been written on
privilege inthe social work literature, This is most unfortunate because the main
reason we have oppression is because we have privilege: It is similar to the
relationship between poverty and wealth. We have poverty because we have wealth. I
we want to truly understand poverty, we must understand wealth. If we want to truly
understand oppression, we must understand privilege.

Oppression and privilege go hand in hand. Just as privilege cpens doors of
opportunity, oppression stams them shut. We will always have oppression until we do
something about privilege. Privilege is not something we take; itis given to us by
society if we possess the characteristics that society values, such as being male, white,
heterosexual, afflusnt and non-disabled, Privilege is ‘granted’ and birth is the easiest
way of being granted privilege. There are two major reasons why we have tended to
ignore the issue of privilege. First, it implicates those with power, and second, it is far
easier to explore the problems faced by oppressed groups than it is to explore our
own roles in perpetuating ineguality.

Given below are two statements :

Statement |: It is notso easy to explore the problems faced by the oppressed
groups.

Statement II: It is not difficult to explore our own role in perpetuating oppression.

In light of the above statements, choose the most appropriate ariswer-from the
options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement | is incorrect

4. Statement | is incorrect but Statement |l is correct
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Answer the five questions that follow based on the given passage.

The flip side of the coin of cppression is privilege. However, compared to opprezsion
in general and anti-oppressive social work in particular, not much has been written on
privilege inthe social work literature, This is most unfortunate because the main
reason we have oppression is because we have privilege: Itis similar to the
relationship between poverty and wealth. We have poverty because we have wealth. I
we want to truly understand poverty, we must understand wealth. If we want to truly
understand oppression, we must understand privilege.

Oppression and privilege go hand in hand. Just as privilege cpens doors of
opportunity, oppression stams them shut. We will always have oppression until we do
something about privilege. Privilege is not something we take; itis given to us by
society if we possess the characteristics that society values, such as being male, white,
heterosexual, afflusnt and non-disabled. Privilege is ‘granted’ and birth is the easiest
way of being granted privilege. There are two major reasons why we have tended to
ignore the issue of privilege. First, it implicates those with power, and second, it is far
easier to explore the problems faced by oppressed groups than it is to explore our
own roles in perpetuating inequality.

Given below are two statements, one is labelled as Assertion A and the other
is{abelled a5 Reason R

Assertion A: The flip side of oppression is privilege.

Reason R: Privilege opens the doors of opportunity; oppression stams them shut.

In light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3. A'is correct but R is not correct

4. A is not correct but R is-correct
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Answer the five questions based on the paragraph given below:

The outbreak of the COVID-12 pandemic in India, with the conseguent lockdowns, has
resulted in unprecedented chianges in the lives and livelihoods of the people. During
the initial stages of the lockdown, most of India's 1.3 billien residents went into a
national house arrest by staying indoors. The country came to a grinding halt with the
clasure of non-essential services, public transportation, offices; schools and outside
markets, Then,the country was taken unawares by the second wave of the pandemic,
It exposed the vulnerabilities of India's health care infrastructure by taking away
thiousands of lives with failures in the oxygen and medical supplies and the hospital
bed scarcity caused by meney hungry private hospitals,

Though the pandemic hitwithout discrimination, the outcomes of its impact varied
depending on where one is located in the social and econemic order. As:the
educational institutions functioned only in an online mode, during the pandemic,
departments/schools of social work reorganised students® fieldwork so as to allow
them ta work, from their own locations, with the affected communication.

Students took this as an opportunity to build awareness about COVID-19 appropriate
behaviour among the families they worked with, The civil sodiety organisations, social
workers and students were alsc engaged in distributng personal hygiene material,
food and relief materials to the affected families apart from psychosocial counselling
services and dizsemination of the right kind of infermation about the virus, its testing
and about doctors and basic health services. In the process of rendering these
services, professional social workers faced a number of challenges such as restrictions
on mobility, lack of financial suppert and information and nen-availability of relief
materials in the market.

Which among the following was the most significant recrganisation insocial work
education during the COVID-19 pandemic in India?
1. Online classes from students’ own Ic-;:atior-j.s
2. Online Fieldwork
3. Fieldwork from students' ewn locations
4, Professional social workers' response to the COVID-19 and suppert to affected
families
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Answer the five questions based on the paragraph given below:

The outbreak of the COVID-12 pandemic in India, with the conseguent lockdowns, has
resulted in unprecedented chianges in the lives and livelihoods of the people. During
the initial stages of the lockdown, most of India's 1.3 billien residents went into a
national house arrest by staying indoors. The country came to a grinding halt with the
clasure of non-essential services, public transportation, offices; schools and outside
markets, Then,the country was taken unawares by the second wave of the pandemic,
It exposed the vulnerabilities of India's health care infrastructure by taking away
thiousands of lives with failures in the oxygen and medical supplies and the hospital
bed scarcity caused by meney hungry private hospitals,

Though the pandemic hitwithout discrimination, the outcomes of its impact varied
depending on where one is located in the social and econemic order. As:the
educational institutions functioned only in an online mode, during the pandemic,
departments/schools of social work reorganised students® fieldwork so as to allow
them ta work, from their own locations, with the affected communication.

Students took this as an opportunity to build awareness about COVID-19 appropriate
behaviour among the families they worked with, The civil sodiety organisations, social
workers and students were alsc engaged in distributng personal hygiene material,
food and relief materials to the affected families apart from psychosodial counselling
services and dizsemination of the right kind of infermation about the virus, its testing
and about doctors and basic health services. In the process of rendering these
services, professional social workers faced a number of challenges such as restrictions
on mobility, lack of financial suppert and information and nen-availability of relief
materials in the market.

Which of the following is not correct about the second wave of COVID-12 pandemic
in [ridia?

1. High incidence of deaths

2. Failure in the oxygen and medical supplies

3. Better health support services in urban areas

4, Hospital bed scarcity
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Answer the five questions based on the paragraph given below:

The outbreak of the COVID-12 pandemic in India, with the conseguent lockdowns, has
resulted in unprecedented chianges in the lives and livelihoods of the people. During
the initial stages of the lockdown, most of India's 1.3 billien residents went into a
national house arrest by staying indoors. The country came to a grinding halt with the
clasure of non-essential services, public transportation, offices; schools and outside
markets, Then,the country was taken unawares by the second wave of the pandemic,
It exposed the vulnerabilities of India's health care infrastructure by taking away
thiousands of lives with failures in the oxygen and medical supplies and the hospital
bed scarcity caused by meney hungry private hospitals,

Though the pandemic hitwithout discrimination, the outcomes of its impact varied
depending on where one is located in the social and econemic order. As:the
educational institutions functioned only in an online mode, during the pandemic,
departments/schools of social work reorganised students® fieldwork so as to allow
them ta work, from their own locations, with the affected communication.

Students took this as an opportunity to build awareness about COVID-19 appropriate
behaviour among the families they worked with, The civil sodiety organisations, social
workers and students were alsc engaged in distributng personal hygiene material,
food and relief materials to the affected families apart from psychosocial counselling
services and dizsemination of the right kind of infermation about the virus, its testing
and about doctors and basic health services. In the process of rendering these
services, professional social workers faced a number of challenges such as restrictions
on mobility, lack of financial suppert and information and nen-availability of relief
materials in the market.

Which of the following are correct about the impact of COVID-19 in India?
A, Unprecedented changes in lives and livelihood.

B, Unilinear impact on all sections of society,

C. Differential impact depending upen one's social location,

D. Huge variations in access to relief and basic health services,

Choose the correct answer from the options given belowr

1.4 Band Conly
2.B, Cand D only
3. A, Cand D enly
4. A Band D only
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Answer the five questions based on the paragraph given below:

The outbreak of the COVID-12 pandemic in India, with the conseguent lockdowns, has
resulted in unprecedented chianges in the lives and livelihoods of the people. During
the initial stages of the lockdown, most of India's 1.3 billien residents went into a
national house arrest by staying indoors. The country came to a grinding halt with the
clasure of non-essential services, public transportation, offices; schools and outside
markets, Then,the country was taken unawares by the second wave of the pandemic,
It exposed the vulnerabilities of India's health care infrastructure by taking away
thiousands of lives with failures in the oxygen and medical supplies and the hospital
bed scarcity caused by meney hungry private hospitals,

Though the pandemic hitwithout discrimination, the outcomes of its impact varied
depending on where one is located in the social and econemic order. As:the
educational institutions functioned only in an online mode, during the pandemic,
departments/schools of social work reorganised students® fieldwork so as to allow
them ta work, from their own locations, with the affected communication.

Students took this as an opportunity to build awareness about COVID-19 appropriate
behaviour among the families they worked with, The civil sodiety organisations, social
workers and students were alsc engaged in distributng personal hygiene material,
food and relief materials to the affected families apart from psychosocial counselling
services and dizsemination of the right kind of infermation about the virus, its testing
and about doctors and basic health services. In the process of rendering these
services, professional social workers faced a number of challenges such as restrictions
on mobility, lack of financial suppert and information and nen-availability of relief
materials in the market.

Which among the following were major roles played by secial work professionals
during COVID-19 pandemic?

A, Building awareness about (COVID-19 appropriate behaviour

8. Distributing personal hygiens material, food and other relief materials:
C. Psychosocial counselling services

D. Dissemination of the right kind of information

Choose the correct answer from the options given below:

1.A B CandD
2.A Band Conly
3. B and C only
4. Aand D only
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5)

Answer the five questions based on the paragraph given below:

The outbreak of the COVID-12 pandemic in India, with the conseguent lockdowns, has
resulted in unprecedented chianges in the lives and livelihoods of the people. During
the initial stages of the lockdown, most of India's 1.3 billien residents went into a
national house arrest by staying indoors. The country came to a grinding halt with the
clasure of non-essential services, public transportation, offices; schools and outside
markets, Then,the country was taken unawares by the second wave of the pandemic,
It exposed the vulnerabilities of India's health care infrastructure by taking away
thiousands of lives with failures in the oxygen and medical supplies and the hospital
bed scarcity caused by meney hungry private hospitals,

Though the pandemic hit without discrimination, the outcomes of its impact varied
depending on where one is located in the social and econemic order. As:the
educational institutions functioned only in an online mode, during the pandemic,
departments/schools of social work reorganised students® fieldwork so as to allow
them ta work, from their own locations, with the affected communication.

Students took this as an opportunity to build awareness about COVID-19 appropriate
behaviour among the families they worked with, The civil sodiety organisations, social
workers and students were alsc engaged in distributng personal hygiene material,
food and relief materials to the affected families apart from psychosocial counselling
services and dizsemination of the right kind of infermation about the virus, its testing
and about doctors and basic health services. In the process of rendering these
services, professional social workers faced a number of challenges such as restrictions
on mobility, lack of financial suppert and information and nen-availability of relief
materials in the market.

Given below are two statements

Statement |: The country was taken unawares by the'second wave of the COVID-19
pandemic

Statement lI: The second wave exposed the vulnerabilities of India's healthcare
infrastructure.

In light of the above statements, choose the correct answer from the options given
below

1. Both Statement | and Staterment Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true
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